From
Thiru.P.Ponniah, I.A.S.,
Director,
Directorate of Rural Development and
Panchayat Raj,
Panagal Building, Saidapet,
Chennai –15.

To The District Collector / Chairman, District Rural Development Agency, All Districts.

Lr.No. 41635/2024/MGNREGS-II-2, Dated.27.06.2024

Sir/ Madam,

Sub: Mahatma Gandhi NREGS -RD & PR Department **Announcements** made by Hon'ble Minister of Rural Development Department on the floor of Tamil Nadu Legislative Assembly on 22.06.2024 - Construction of 500 Food Grain Godown (Type I and II) under MGNREGS during the FY year 2024-25 - Executive Orders issued - Reg.

Ref: 1. Annual Master Circular issued by GoI, - 2024-25.

- 2. List of approved Works given by GoI.
- 3. Govt. of India Gazette Notification S.O.No.1562(E), Dtd:27.03.2024.
- 4. Minutes of the Empowered Committee meeting of MoRD, GoI held on 28.03.2024.
- 5. G.O.(Ms) No.90 Rural Development and Panchayat Raj (CGS-1) Department, dated.07.05.2024
- 6. G.O.(Ms) No.93 Rural Development and Panchayat Raj (CGS-1) Department, dated.22.05.2024
- 7. Announcement made by Hon'ble Minister for Rural Development Department on the floor of the Tamil Nadu Legislative Assembly on 22.06.2024.

I invite your attention to the references cited.

In the reference 4th cited, Government of India, Ministry of Rural Development have approved Labour Budget of 20 Crore persondays under MGNREGS to Tamil Nadu for the financial year 2024-25.

As per the Government of India notifications for the wage rate for the FY 2024-25, Government of Tamil Nadu has issued orders vide ref.5th cited as Rs.319/- per day in respect of Tamil Nadu. Government in the reference 6th cited has issued orders for the Rural Schedule of Rates for the year 2024-25 under MGNREGS.

Among the Announcements made by Hon'ble Minister for Rural Development Department on the floor of the Tamil Nadu Legislative Assembly on 24.06.2024, Announcement No.14 is as follows.

மகாத்மா காந்தி தேசிய ஊரக வேலை உறுதித் திட்டத்தின் கீழ் ஊரகப்பகுதிகளில் மக்கள் உணவு தானியப் பொருட்களைப் எளிதில் வழங்கும் பொருட்டு, முழு நேரம் இயங்கும் 500 நியாய விலைக்கடைகள், மகாத்மா காந்தி தேசிய ஊரக வேலை உறுதித் திட்டத்தின் கீழ் மொத்தம் ரூ.60 கோடி மதிப்பீட்டில் கட்டப்படும்.

The Schedule – I of the Act provide list of permissible works categorised into 4 parts. Based on the various works mentioned in the Schedule, the Management Information System (MIS) has listed 45 categories of works covering 266 types of works permissible under the Programme.

Construction of Food Grain Godown is a permissible activity as per S.No.192 of Annual Master Circular 2024-25.

The above work is approved by the Empowered Committee, Ministry of Rural Development, Government of India during the Empowered Committee Meeting held on 27.03.2024.

The above work were proposed by your District in the Shelf of Project of Labour Budget 2024-2025.

Hence, I request you to execute the construction of Food Grain Godowns at a total cost of Rs.60 crores under MGNREGS as per the allocation and the guidelines. 250 Nos. of Food Grain Godown as Type I for More than 500 cards to be taken up at an unit cost of Rs.13.56 lakhs and 250 Nos. of Food Grain Godown as Type II for below 500 cards to be taken up at an unit cost of Rs.9.97 lakhs under MGNREGS.

The District Collector should document various process of the Scheme implementation starting from selection of works to completion of works, documenting the works with photographs, video etc.,

Non-Negotiable Items:

- 1. Citizen Information Board shall be kept at the work site in 3 X 4 feet with all necessary information as per the framework given by the Government of India vide Ref No: k11023/1/1/2017 MGNREGA (IV), MORD, Dated 07.04.2017. The cost of Citizen Information Board for community asset works will be fixed at Rs.1,000/- per unit and the cost of the Citizen information Board shall be included in the estimate itself. The CIB should only be wall painted for the works like Dugwells, Food Grain Godown, Milk Collection Centre, Culvert, and Minor Bridge etc.
- Estimate creation, Administrative Sanction and Technical Sanction shall be done in SECURE software except for Convergence/Devolution Works.
- Geo-Tagging of Assets at all three i.e before, during and after completion should be ensured.
- 4. In reference 5th cited, Ministry of Rural Development, Government of India have notified the wage rate and the Rural Schedule of Rates has been prepared accordingly for all the estimate preparation.

In case of any revision made in Rural Schedule of Rates in future, the same shall be adopted for the works.

5. Labour and material ratio of 60:40 should be ensured.

In addition to the above said guidelines, the following shall also be adhered to during the execution of works;

- Resolution should be obtained for in the Gram Sabha for all the Selected Works/Beneficiaries Selected and it should be entered work wise in Register No.2 of Mahatma Gandhi NREGA of village panchayats concerned.
- Photographs shall be taken before execution, during execution and after completion of work.

Hence, I request you to accord Administration Sanction from the proposed works in the Shelf of Project of Labour Budget 2024-2025 for the construction of Food Grain Godown(Type I & II) in rural areas under MGNREGS during the FY 2024-2025.

I also request you to send the Administrative Sanction given details to this Directorate on or before 10.07.2024..

Encl: Estimate

Sd./ -Ponniah,
Director

Copy to

- The Principal Secretary to Government, Rural Development & Panchayal Raj Department, Secretariat, Chennai-09.
- The Additional Collector (Dev.) / Project Director, District Rural Development Agency, All Districts.

For Director



DETAILED CUM ABSTRACT ESTIMATE

NAME OF WORK :-

Construction of PDS MODEL 1 (Above 500 card holders)

Estimate Amount

Description of work				Mea	surements ir	າ "m"		و در گیمید به مین می
No Description of Work		No	S	Length	Breadth	Depth	Contents	Amoun
Earth work excavation in bank with initial lead of such as shoring, struttin depth	10M a	nd lif	t of 2M	1 including a	II labour charg	es and incide	ntal charges	
Column	1	×	10	1.30	1.30	0.30	5.07	er types service
Grade Beam								in disperse
MAIN BUILDING All- round	1	x	1	21.78	0.35	0.30	2.29	
STORE	1	x	1	7.26	0.35	0.30	0.76	
Intermediate cross wall	1	x	1	4.08	0.35	0.30	0.43	ing a service of the
Portico	1	x	1	11.79	0.35	0.30	1.24	
All round Deduct column	1	x	-10	0.23	0.35	0.30	-0.24	ti ka wakaza ingani ing Tuan watawa alimpia
Ramp	1	x	2	6.00	0.30	0.30	1.08	
			12-12-12				10.63	
yang Amerikan Salah Jerangan Kalandaran Kabupaten Kabupaten Kabupaten Kabupaten Kabupaten Kabupaten Kabupaten K	1 202	or						21 - 120 and 1
Earth work excavation in bank with initial lead of such as shoring, strutting	LOM ar	asses	of 2M	including al	I labour charge	es and incide	ntal charges	3236
bank with initial lead of	LOM ar	asses	of 2M	s except had	I d rock requiring I labour charge	ng blasting de es and incide	epositing on ntal charges	3236
2 bank with initial lead of such as shoring, strutting depth	LOM arg, prov	asses nd lift viding	of 2M g coffer	s except had including al r dams, baili	I d rock requiring I labour charge ng out of wate	ng blasting de es and incide er etc., in SDF	epositing on ntal charges R Soil- 2nd	
2 bank with initial lead of such as shoring, strutting depth Column	LOM arg, prov	asses nd lift viding	of 2M g coffer	s except had including al r dams, baili	I d rock requiring I labour charge ng out of wate	ng blasting de es and incide er etc., in SDF	epositing on ntal charges R Soil- 2nd	
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All-	LOM arg, prov	asses nd lift /iding	of 2M g coffer	s except had including all dams, baili	d rock requiring labour charge ng out of water	ng blasting de es and incide er etc., in SDF 0.30	epositing on ntal charges R Soil- 2nd	3236
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All-round STORE Int cross wall	IOM arg, prov	asses	of 2M g coffer 10	s except had including all dams, bailing 1.30	rd rock requiring labour charge ng out of water 1.30	ng blasting dees and incide er etc., in SDF 0.30	epositing on intal charges R Soil- 2nd 5.07	3236
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All- round STORE	1 1 1	x	10 1 1 1	s except had including all dams, bailing 1.30 21.78	1.30 0.35	ng blasting does and incide or etc., in SDF 0.30 0.20 0.20	spositing on on ontal charges R Soil- 2nd 5.07 1.52 0.51	3236
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All-round STORE Int cross wall All round Deduct	IOM arg, prov	x x x	10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	s except had including all r dams, bailing 1.30 21.78 7.26 1.08	1.30 0.35 0.35	ng blasting does and incide or etc., in SDF 0.30 0.20 0.20 0.20	epositing on intal charges R Soil- 2nd 5.07 1.52 0.51 0.29	3236
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All-round STORE Int cross wall All round Deduct column	1 1 1 1 1 1	x x x	10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1.30 21.78 7.26 4.08	1.30 0.35 0.35 0.35	0.30 0.20 0.20 0.20	epositing on intal charges R Soil- 2nd 5.07 1.52 0.51 0.29	3236
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All-round STORE Int cross wall All round Deduct column Portico	1 1 1 1 1 1 1 1 1	x x x x x x r	10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1.30 21.78 7.26 4.08 0.23 11.79	1.30 0.35 0.35 0.35 0.35 Cum @Rs	0.30 0.20 0.20 0.20 0.20	1.52 0.51 0.29 0.16 0.83 8.05 /Cum	3236
2 bank with initial lead of such as shoring, strutting depth Column Grade Beam MAIN BUILDING All-round STORE Int cross wall All round Deduct column	IOM arg, prov	x x x x x x difference of the second	10 1 1 1 1 1 of soils of 2M	1.30 21.78 7.26 4.08 0.23 11.79 8.05 s except har including all	1.30 1.30 0.35 0.35 0.35 0.35 0.35 0.75 0.75 0.75 0.75	ng blasting des and incide or etc., in SDF 0.30 0.20 0.20 0.20 0.20 0.20 0.20 0.20	pepositing on intal charges R Soil- 2nd 5.07 1.52 0.51 0.29 0.16 0.83 8.05 /Cum positing on intal charges	

SI.					Mea	surements in	''m"		
No	Description of work		Nos	5	Length	Breadth	Depth	Contents	Amount
J								12.96	apedin has a line
		200	or		12.96	Cum @Rs	390.35	/Cum	5059
4	Supplying and Filling for than 15cm . Thick well ran specification.								
	Column	1	x	10	1.30	1.30	0.10	1.69	
	Flooring								
	Store-Grains	1	x	1	3.90	4.20	0.10	1.64	
	store-Grains	1	x	1	1.27	0.60	0.10	0.08	
	Office	1	х	1	2.10	2.70	0.10	0.57	
	Kerosene	1	x	1	2.20	2.40	0.10	0.53	
	Flooring Toilet	1	x	1	1.50	1.27	0.10	0.19	
	Grade Beam								
	MAIN BUILDING All- round	1	х	1	21.78	0.35	0.10	0.76	
	STORE	1	x	1	7.26	0.35	0.10	0.25	
	Intermediate cross wall	1	х	1	4.08	0.35	0.10	0.14	
	Portico	1	х	1	11.79	0.35	0.10	0,41	al distribution de la com Santago de la companya de la companya distribution de la c
	All round Deduct column	1	x	-10	0.23	0.35	0.10	-0.08	
	Raised Platform	1	х	1	7.16	1.57	0.10	1.12	
	Ramp-Side wall	1	x	2	6.00	0.30	0.10	0.36	
	Ramp	1	х	1	6.00	1.04	0.10	0,62	
								8.28	
			or		8.28	Cum @Rs	1716.85	/Cum	14216
5	Cement concrete 1 : 4 : wherever necessary and la complete complying with s	aid in	laye ard	ers of r	not more tha cations and a	n 15cm thick., as directed.	compacting	etc.,	
	Column	1	×	10	1.30	1.30	0.10	1.69	
	Flooring				<u>Called in the State of the Constitution of th</u>				
	Store-Grains	1	×	1	3.90	4.20	0.10	1,64	
	store-Grains	1	х	1	1.27	0.60	Ö.1Ö	0.08	
	Office	1	х	1	2.10	2.70	0.10	U.57	
	Kerosene	1	×	1	2.20	2.40	0.10	0.53	
	Flooring Tollet	1	X	1	1.50	1.27	0.10	0.19	
	Grade Beam								
F 1.4	MAIN BUILDING All-	1	×	1	21.78	0.35	0.10	0.76	

Si. Description of work		Ni.a		Mea	surements i	in "m"		
Description of work		No	S	Length	Breadth	Depth	Contents	Amoun
STORE	1	x	1	7.26	0.35	0.10	0.25	
Intermediate cross wall	1	x	1	4.08	0.35	0.10	0.14	
Portico	1	x	1	11.79	0.35	0.10	0.41	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
All round Deduct column	1 1	×	-10	0.23	0.35	0.10	-0.08	
Raised Platform	1	×	1	7.16	1.57	0.10	1.12	
Ramp-Side wall	1	x	2	6.00	0.30	0.10	0.36	
Ramp	1	×	1	6.00	1.04	0.10	0.62	
							8.28	
		or		8.28	Cum @Rs	4988.11	/Cum	41302
Filling in Basement wind rammed, watered and construction Store-Grains	onsolic 1	lated ×	comp	olying with sta	andard specifi 4.20	0.30	omplete.	
store-Grains		 						
Office	1 1	X	1	1.27	0.60	0.30	0.23	
Kerosene	1	X	1	2.10	2.70	0.30	1.70	
	1	X	1	2.20	2.40	0.30	1.58	
Flooring Toilet	1	×	1	1.50	1.27	0.30	0.57	
		or					8.99	
Brick work in CM 1:5m	ix usi Iring e	ng c	ounti	8.99 Ty bricks groete complying	Cum @Rs und molded o with standar	38.95 of size 23 x 11 rd specification	/Cum x 7cm for	350
For foundation and ba	seme	<u>it</u>		Ay Abay yar La prepakantik	A to publicate of the control of the	der rege varta viel ve grantiketer sin	an length y performant to A than tael wentel was	Alle Carlos
main walls all-round	1	×	1	21.78	0.23	0.50	2.50	
Store Kerosene 3 sides	1	×	1	7.26	0.23	0.50	0.83	
Cross wall	1	x	1	3.97	0.23	0.50	0.46	
Toilet	1	x	1	2.1	0.23	0.50	0.24	
Deduct column	1	×	-4	0.23	0.23	0.50	-0.11	
Deduct column	1	×	-4	0.23	0.23	0.50	-0.11	
Ramp	1	×	2	6.00	0.23	0.15	0.41	
Raised platform	1	×	1	10.76	0.23	0.20	0.49	www.
	1	x	1	7.62	0.30	0.15	0.34	
Step					······································			
Step -Toilet	1	x	1	1.50	0.30	0.25	0.11	
united and the second s		x	1	1.50	0.30	0.25	0.11 5.16	

SI.	Description of work		Nos	•	Mea	surements in	ր ''m''	Contents	Amount
No	Description of work		NOS	27 14	Length	Breadth	Depth	Contents	Amount
11]	For superstructure in c	roun	d flo	or					
	Superstructure								
	main walls all-round	1	х	1	21.78	0.23	2.30	11.52	
	Store Kerosene 3 sides	1	×	1	7.26	0.23	2.48	4.13	
	Cross wall	1	×	1	3.97	0.23	2.30	2.10	
	Toilet	1	х	1	2.1	0.23	2.30	1.11	
	Deduct column	1	x	-4	0.23	0.23	2.30	-0.49	
	Deduct column	1	×	-4	0.23	0.23	2.30	-0.05	
	Parapet	1	x	1	9.12	0.23	0.60	1.26	
	DEDUCTIONS								
	Rolling Shutter Rs	1	x	-11	2.10	0.23	2.40	-1.16	
	Rolling Shutter Rs1	1	×	-1	1.80	0.23	2.40	-0.99	
	Window	1	Х	-3	1.00	0.23	1.30	-0.90	2.4
	Door D1	1	×	-1	1.00	0.23	2.10	-0,48	
	Door D2	1	x	-1	0.90	0.23	2.10	-0.43	
	Ventilator V	1	×	-4	0.90	0.23	0.60	-0.50	
	Ventilator V1	1	x	-1	0.60	0.23	0.60	-0.08	
17				. 4	eras e di			15.04	
	jan organista koja su obje		or	ខ្លួនទៀ <u>ង</u>	15.04	Cum @Rs	5789.62	/Cum	87076
8	Supplying and Fabricating reinforced cement concrewire in all floors etc, Cor	te wo	rks a	s per	the design g	iven including	cost of steel a	and binding	
	Footing	1	x	1	4.21	50.00	210.5	Kg/m3	
	Grade Beam	1	x	1	3.51	100.00	351	Kg/m3	i dilatat kana. Separah Amba
	Column	1	x	1	2.19	200.00	438	Kg/m3	
	Lintel And Sunshade	1	x	1	4.18	80.00	334.4	Kg/m3	
	Roof beam all round	1	x	1	2.58	175.00	451.5	Kg/m3	
-1.7	Roof Slab	1	х	1	5.11	80.00	408.8	Kg/m3	
					21.78		2194.2	1970 14 4 4 4 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	pouzele. Pouzelea
<u> </u>		1			2.194	MT@ Rs	88977.45	/MT	195217

SI.					Meas	surements in	ı "m"		
No	Description of work	4	No	S A	Length	Breadth	Depth	Contents	Amoun
9	Supplying & Erecting of strutting up to 3.29m her steel sheets of size 90 x 3mm for boarding laid ov about 90cm c/c and suppletc., complete complying officers. Rate for 10m2.fc	ight for 60cm ver sil ported with	or pla & 10 ver o l by o stan	ane su D gaug Dak joi Dasuar dard s	irfaces in all fluid in a life stiffened, which is standard with the standard with the stiffen and the standard in a life stand	oors with all o relded with sto ood) of size 1 10 - 13cm dia	cross bracing eel angle of s 0 x 6.5cm sp 1. spaced @ 1	s using mild size 25 x 25 x paced @ 75cm c/c	
I]	Centering below Groun	ıd lev	<u>rel</u>						
	<u>Footing</u>	4	X	10	1.20		0.15	7.20	
	For columns up to Ground level	1	X	6	0.92		0.50	2.76	
	Ground level For columns up to Ground level	1	Х	4	1.21		0.50	2.42	
	Total							12.38	
			12.3	8	m²	476	.50	/m2	5899
- 1	Rate for column post								- 1.51.1
- 1	For columns Up to Basement	1	Х	6	0.92	-	0.50	2.76	
- 1	For columns Up to Basement	1	X	4	1.21	4.4	0.50	2.42	
	Basement to Roof slab	1	Х	6	0.92		2.30	12.70	
	Basement to Roof slab	1	х	4	1.21		2.30	11.13	
	Total							29.01	
			29.0	1	m²	953	.00	/m2	27647
ii]	Rate for Grade beam,Li	<u>ntel</u>							
	Grade beam all round	1	Х	2	21.78		0.35	15.25	
	Store 3 sides	1	Х	2	7.26		0.30	4.36	
	Int .Cross wall grade Deam	1	х	2	3.97		0.35	2.78	
	Toilet wall grade beam	1	х	2	2.10		0.30	1.26	
F	Portico	1	X	2	12.26	(7 mg) La voye (1). Sa 2 htt://dictions	0.35	8.58	
<u>l</u>	intel all round	1	Х	2	21.78		0.25	10.89	
1	nt wall Lintel	1	X	2	3.97		0.25	1.99	
- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Store 3 sides	1	Х	2	7.26		0.15	2.18	STEET STEET
	Rolling Shutter Bottom RS1	1	x	1	1.80	0.23		0.41	
	Rolling Shutter Bottom Rs2	1	x	1	2.10	0.23		0.48	
	Door BollomD1	1	x	1	1.00	0.23		0.23	
	02	1	x	1	0.90	0.23		0.21	gelly e
V	Vindow Bottom W	1	x	3	1.00	0.23		0.69	
1	entilator Bottom V	1	х	4	0.90	0.23		0.83	

SI.				. * ::	Meas	urements in	"m"		4
Vo	Description of work		Nos		Length	Breadth	Depth	Contents	Amount
	Ventilator Bottom V	1	×	1	0.60	0.23		0.14	
	Total							50.28	
			50.2	8	m²	953	.00	/m2	47917
/]	Rate for sunshade								
	Front Verandah	1	X	1	9.92	1.80		17.86	
	window Sunshade	1	X	1	1.46	0.60		0.88	
	Toilet Door Sunshade	1	X	1	1.73	0.60		1.04	
,	Rate for Roof beam								
	.Slab Roof beam all round	1	X	2	21.78		0.25	10.89	
	Store 3 sides	1	X	2	7.26		0.175	2.54	
	Cross wall Roof beam	1	X	2	3.97		0.25	1.99	
	Portico Beam-Front	1	X	2	9.12		0.325	5.93	
	Portico Beam Side	2	Х	2	1.57		0.175	1.10	<u> </u>
	Roof slab Office and	1	X	1	2.10	4.20		8.82	
-	Toilet Roof beam Bottom	1	X	1	4.20	0.23		0.97	
	Store for Grains	1	X	1	3.90	4.20		16.38	
-	Store for Kerosene	1	X	1	2.20	2.40		5.28	<u>a se destruire en la companya de la</u>
	Roof slab Sides	1	^ X	1	27.56	2.40	0.125	3.45	e d'agraphic de la company
	<u> Alexandra de Caralleta de Car</u>				13.52		An one construction	1.69	and an experience
	Portico Sides	1	Х	1	13.52	January Carlotte (1997)	0.125	landa da d	i ga en
				<u></u>				78.82	
	Sastantina englesi kan	1000000			and the first three body to be he		zpoter ilaktikanasik	and the first state of the control of the	75115
Ο.	Total Reinforced Cement conc works excluding cost of Re including curing and provi necessary and bearing suffinished smooth with ceme extra as directed by the d	rete ein fo ding i rfaces ent m	rcen fixtu s of v norta	5:3 uneat ares like valls, r 1:3,	nd fabricating te fan clamps sides and bot 12mm thick.	charges, cent in the RCC flo tom of the sla and with Kraf	al for all RCC tering and sh or or roof sla abs, beams el t paper witho	uttering but bs wherever cc., shall be	7511
	specifications For foundation and bas	rmr.						massas kidaliin koja o taasada, kiin oli kiin oli asaa aa aa aa	
<i>!</i>	Column footing	1	X	10	1.200	1,200	0.150	2,16	
	Column footing	1	×	10	(1.2^2+0.3	35^2+ Sqrt	0.300	2.05	
	For columns up to	1	X	6	0.23	0.230	0.50	0.16	
	Ground level		X	6	0.23	0.230	0.50	0.16	
	For columns Up to	1	^	•					
	For columns Up to Basement Basement to Roof Slab	1	X	6	0.23	0.230	2.35	0.75	

No	Description of work		No		Meas	surements in	"m"		
			NO	5	Length	Breadth	Depth	Contents	Amoun
	For columns Up to Basement	1	X	4	0.23	0.375	0.50	0.17	
- 1	Basement to Roof Slab	1	X	4	0.23	0.375	2.25	0.78	
	Grade beam all round	1	X	1	21.78	0.230	0.35	1.75	
	Store grade beam	1	X	1	7.26	0.230	0.30	0.50	
	Cross wall grade beam	1	X	1	3.97	0.230	0.30	0.27	
	Toilet wall grade beam	1	Х	1	2.10	0.230	0.30	0.14	
	Portico Beam	1	X	1	12.26	0:230	0.30	0.85	***************************************
ŀ	Total						,,,,,	9.91	
			9.9	L	m³	8369.28		/m3	82940
)]	For superstructure in g	roun	d flo	or					
l	intel all round	1	X	1	21.78	0.23	0.25	1.25	
1	Int wall Lintel	1	Х	1	4.20	0.23	0.25	0.24	
ŀ	Kerosne Store Lintel	1	Х	1	7.26	0.23	0.15	0.25	
F	Portico Beam-Front	1	Х	1	9.12	0.23	0.325	0.68	
F	Portico-Sides	1	х	2	1.57	0.23	0.175	0.13	
F	Portico Front	1	Х	1	9.92	1.80	0.125	2.23	
v	vindow Sunshade	1	Х	1	1.46	0.60	0.063	0.06	
Ţ	oilet Door Sunshade	1	Х	1	1.73	0.60	0.063	0.07	<u> </u>
R	Roof Beam All round	1	Х	1	21.78	0.23	0.25	1.25	
s	tore 3 sides roof beam	1	Х	1	7.26	0.23	0.175	0.29	
C	Cross wall Roof Beam	1	х	1	3.97	0.23	0.25	0.23	
R	Roof Slab Main Building	1	Х	1	6.69	4.96	0.125	4.15	
R	loof Slab Store	1	х	1	2.43	3.16	0.125	0.96	
V	Vindow sill slab	1	Х	3	1.46	0.23	0.075	0.08	
T	otal							11.87	
		1	1.87	,	m³	8489.13		/m3	100766

SI.	Description of work		Nos		Mea	surements in	"m"	Contents	Amount
No	Description of work		NUS		Length	Breadth	Depth	Contents	Amount
								58.72	
			58.7	2	Sqm	1175.90		/Sqm	69049
.2 5	Supply and fixing of Cu	ddap	ah	slab i	ncluding cost	and supply of	work site et	c complete.	
5	0 MM Thick								
S	Storage -Store for Grains	4	×	1	4.20	0.60		10.08	
5	Storage -Store for Grains	4	×	1	1.27	0.60		3.05	
S	itorage -Office	4	×	1	2.10	0.60		5.04	
								18.17	813
			18.1	7	m²	470	.95	/m2	8557
s	osing for sunshades & stape pecifications.	5.45	7	T			complying v		
-	itore Roof Bottom Grains	1	X	1	3.90	4.20		16.38	
K	Cerosene Roof Bottom	1	X	1	2.20	2.40		5.28	
C	Office Roof Bottom	1	Х	1	2.10	2.70		5.67	
Ī	oilet	1	Х	1	1.50	1.27		1.91	
V	erandah Roof Bottom	1	Х	1	9.46	1.57	1 e e	14.85	
R	loof Projection rear	1	Х	1	6.69	0.30		2.01	
1.0	loof slab thick all round	1	X	1	13.52		0.125	1.69	
		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7					47.79	
			or		47.79	Sqm @Rs	279.11	/Sqm	13339
4 c	Plastering with CM 1:5, uring etc., complete com epartmental officers.								
	nside	<u> </u>							anteriori (m. 1901). <u>Sua carte de la Albade de la Car</u> Albade de la Carte de
200	tore Grainsall-round	1	x	1	16.20		2.80	45.36	
-	Office	1	x	1	9.60		2.80	26,88	
T	oilet	1	×	1	5.54		2.80	15.51	
_ s	tore Kerosene all-round	1	×	1	9.20		2.80	25.76	
_ N	liddle wall- storage area	1	×	2	0.60		2.80	3.36	
sassania entre	Outside								kammanan dapikasas si seria
	outside all-round asement	1	×	1	27.56		0.50	13.78	
	bove Basement	1	x	1	27.56		2.93	80.61	

SI.				j nigo	Mea	surements in	ı "m"		
Vo	Description of work		Nos		Length	Breadth	Depth	Contents	Amount
	Step Front top	1	x	1	7.62	0.30		2,29	
3.5	Step	1	x	1	7.62		0.15	1.14	
	Parapet	1	×	2	9.12		0.60	10.94	
	Portico Column	1	×	2	0.92		2.90	5.34	refore
72	DEDUCTIONS			41.5					
	Rolling Shutter RS	2	х	-2	2.10		2.40	-20.16	
	Rolling Shutter RS1	2	х	-2	1.80		2.40	-17.28	
	Door D1	2	х	-1	1.00		2.10	-4.20	
	Door D2	2	х	-1	0.90		2.10	-3.78	
	Window	3	x	-2	1.00		1.30	-7.80	
	Ventilator	2	x	-4	0.90		0.60	-4.32	
	Ventilator	2	x	-1	0.60		0.60	-0.72	
	Dadooing Qty	1	х	1				-5.86	
	Add Soffits								<u>ar en </u>
	Rolling ShutterRs	1	х	1	6.90	0.18		1.24	
	Rolling ShutterRs1	1	х	1	6.60	0.18		1.19	<u> </u>
	Door D1	1	х	1	5.20	0.18		0.94	
	Door D2	1	х	1	5.10	0.18		0.92	
	Window	1	x	3	3.60	0.18	ergered tid tid day di Tuak Genedi Tuak di Genedali	1.94	
	Ventilator V1	1	x	4	2.10	0.18		1.51	
	Ventilator	1	x	1	1.80	0.18		0.32	
								174.91	
			or		174.91	Sqm @Rs	242.52	/Sqm	42419
5 1	Granolithic Floor finish watering wherever necessaletc., complete complying w	ary a	nd lai	d in la	ayers of not	more than 15c	m thick., cor	cluding npacting	
	Office	1	x	1	2.10	2.70		5,67	- La de la compañística de la Filodòlica de la Calabarda de la Calabarda Filodòlica de la Calabarda de l
Ţ	Store-Grains	1	×	1	3.90	4.20		16.38	
I	Kerosene-Store	1	×	1	2.20	2.40		5.28	
5	Storage	1	x	1	1.27	0.60		0.76	
Ī	Foilet	1	x	1	1.50	1.27		1.91	
F	Platform	1	x	1	7.62	1,50		11.43	
 F	-ront ramp	1	х	1	6.00	1.50		9.00	

SI.			NI		Meas	surements in	"m"	Contents	Amoun
No	Description of work		Nos		Length	Breadth	Depth	Contents	Ainoui
	and Market Version			- 1				50.43	Aspelli.
	a y a Proper ye		or		50.43	Sqm @Rs	243.99	/Sqm	12304
16	Paving the flooring with s Anti skid tiles (20mm t specifications and as d	hick)	in (CM 1:3	3, 20mm thi	ck complying			
	Toilet	1	x	1	1.50	1.27		1.91	
	Deduct WC	1	x	1	0.45	0.35		-0.16	
								1.75	. Sharfatsi
			or		1.75	Sqm @Rs	1323.29	/Sqm	2316
	as directed by the depart Departmental officers bef Toilet inside all-round				5.54		1.20	6.65	
	deduct door	1	x	1	0.9		1.20	-1.08	
	Add for door sides	1	×	2	0.12		1.20	0.29	
				44				5.86	
			or		5.86	Sqm @Rs	1262.93	/Sqm	7401
20	Distempering two coats priming coat over new pla charges								
	Inner Plastering QTY	1	Х	1	137.73	1.00		137.73	
		1		7 (1 () () () () ()	137.73				
					197.79			137.73	
			or		137.73	Sqm @Rs	169.23		23308
21	Exterior Emulsion Two materials and labor chara		OVE	er prim	137.73 Ing coat incli	Sqm @Rs	<u>. Gala base gazagaran gabar</u> Nebasaran Juan Jinaburan Lar	137.73 /Sqm	23308
21			OVE	er prim	137.73 Ing coat incli	Sqm @Rs	<u>. Gala base gazagaran gabar</u> Nebasaran Juan Jinaburan Lar	137.73 /Sqm	23308
21	materials and labor charg	es etc	ove	er prim	137.73 ing coat inclu	Sqm @Rs uding cost and	<u>. Gala base gazagaran gabar</u> Nebasaran Juan Jinaburan Lar	137.73 /Sqm of all	23308
21	materials and labor charg	es etc	ove	er prim	137.73 ing coat inclu	Sqm @Rs uding cost and	<u>. Gala base gazagaran gabar</u> Nebasaran Juan Jinaburan Lar	137.73 /Sqm of all 84.97	
	materials and labor charg	es etc	or viron g pri	er prim nolete. 1 n wor best ming o	137.73 Ing coat inclu 84.97 84.97 ks such as stapproved bestoot etc., con	Sqm @Rs 1.00 Sqm @Rs teel doors, wirk st quality of synplete comply	231.68 ndows, ventili	137.73 /Sqm of all 84.97 84.97 /Sqm ators, nel paint of	
	Painting two coats over window bars, balustrades approved color over the e	es etc	or viron g pri	er prim nolete. 1 n wor best ming o	137.73 Ing coat inclu 84.97 84.97 ks such as stapproved bestoot etc., con	Sqm @Rs 1.00 Sqm @Rs teel doors, wirk st quality of synplete comply	231.68 ndows, ventili	137.73 /Sqm of all 84.97 84.97 /Sqm ators, nel paint of	19686
21	Painting two coats over window bars, balustrades approved color over the especifications and as direct	r new etc., xistin	or virol y the	er prim nolete. 1 n wor best ming de	137.73 Ing coat inclu 84.97 84.97 ks such as stapproved bestoat etc., con	Sqm @Rs 1.00 Sqm @Rs teel doors, wirk st quality of synplete comply	231.68 ndows, ventili Inthetic enan	137.73 /Sqm of all 84.97 84.97 /Sqm ators, nel paint of dard	

		1 9	233	ar a tira	Mea	surements i	n "m"		
No	Description of work	100	Nos	3	Length	Breadth	Depth	Contents	Amour
	Door D2	1	х	2.2	0.90		2.10	4.16	
	Window	3	×	3.2	1.00		1.30	12.48	eri er <u>g</u> Tukturi
	Ventilator	4	х	3.2	0.90		0.60	6.91	
	Ventilator	1	х	3.2	0.60		0.60	1.15	
				1 11 14				49.91	
			or		49.91	Sqm @Rs	138.20	/Sqm	6897
23	Supplying and fabrication and all charges etc comple	of the	e foll	owing	rolling Shu	tters includir	g cost and co	nveyance	<u>- TO Claudinia</u> - To Claudinia - Sono Claudinia
	Rolling Shutter RS	1	х	1	2.10		2.40	5.04	
	Rolling Shutter RS1	1	х	1	1.80		2.40	4.32	
		47.45	445				into even	9.36	
	Manufacturing supplyin	8 00 00 0 8 00 0 0 0	or		9.36	Sqm @Rs	2171.00	/Sqm	20321
> 4	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer fra	case asts 1 ames	of s .20 : of th	1.S. fla ingle lo nm in ne doo	it is provided eaf and 6nos length made r. Tower boll	I diagonally at a of hinges in a of angle sect as 2nos. one a	double leaves ion spliced at t the top and	of the shutter to the ends the other at	
24	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer frathe bottom are provided 1 in the door in single leaf door One rotaing locking a for locking arrangements f place. Incase of double lesshutter t conceal the gap to bar is provided at the bottom officers. The rate includes	case asts I ames no. A cor, o carrang for local decome of e give cost cost of	of s .20 i of th ldrop ine r eme k is or M. en the en a of all	1.S. flatingle long in the dood is promote and series for provid S.Flatine two frame coat o mater	et is provided eaf and 6nos length made r. Tower bold by ided incase ldrop is provent the inner sied on the reason at the prevent to prevent the instantials, labour	I diagonally at a of hinges in a of angle sect as 2nos. one a conference of double lead of the doo ar side of the at 1.1Kg/m is an appropriate wisting of fractionarges, transcripts.	the rear side double leaves double leaves don spliced at the top and af door at lock rail so and addition door at an approvided on the place in the me during tracted by the design of t	e of the s shutter to the ends the other at c rail section ection of the lal provision propriate he one door. A tie insportation epartmental	
24	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer from the bottom are provided 1 in the door in single leaf dodor One rotaing locking a for locking arrangements for locking arrangement arrangement for locking arrangement for lock	case asts I ames no. A cor, o carrang for local decome of e give cost cost of	of s. 20 if of the later of the	1.S. flatingle long in the dood is promote and series for provid S.Flatine two frame coat o mater	et is provided eaf and 6nos length made r. Tower bold incase ldrop is provided incase ed on the reasonable to prevent to prevent to charges etc.	I diagonally at a of hinges in a of angle sect as 2nos. one a conference of double lead of the doo ar side of the at 1.1Kg/m is an appropriate wisting of fractionarges, transcripts.	the rear side double leaves to spliced at the top and af door at lockner lock rail so and addition door at an approvided on the place in the me during tracted by the desportation to s	e of the s shutter to the ends the other at c rail section ection of the hal provision propriate he one door. A tie insportation epartmental site of work,	
24	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer frathe bottom are provided 1 in the door in single leaf door One rotaing locking a for locking arrangements f place. Incase of double lesshutter t conceal the gap to bar is provided at the bottom officers. The rate includes	case asts I ames no. A cor, o carrang for local decome of e give cost cost of	of s 20 1 of the series of the	1.S. flatingle long in the dood is promote and series for provid S.Flatine two frame coat o mater	et is provided eaf and 6nos length made r. Tower bold incase ldrop is provided incase ed on the rease as witters at to prevent to prevent to prevent to prevent to charges etc.	I diagonally at a of hinges in a of angle sect as 2nos. one a conference of double lead of the door ar side of the at 1.1Kg/m is an appropriate wisting of fractionary as directionary as dire	the rear side double leaves at the top and af door at lock rail so and addition door at an approvided on the place in the me during tracted by the desportation to s	e of the s shutter to the ends the other at c rail section ection of the lal provision propriate the one door. A tie insportation epartmental site of work,	
24	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer from the bottom are provided 1 in the door in single leaf dodoor One rotaing locking a for locking arrangements for place. Incase of double leashbutter t conceal the gap to bar is provided at the bottom officers. The rate includes loading, un loading and all poor D1 Single Leaf Supplying and fixing PV 19mm MS square tubes for and bottom rails. The stee using 5mm thick solid PVC necessary furniture and fittower all size of top rail, Loframes shall be 50mm x 45	case asts 1 ames no. A coor, ourrang for local decrease of the cost of the cos	of s 20 i of the ldrop ine r eme is is the entire income or ling is ar Th I and	M.S. flatingle long is provided S. Flating two frame coat of material dental de	et is provided eaf and 6nos length made r. Tower bolid ovided incass ldrop is provided on the red on the red on the red on the red oxide prials, labour charges etc. 1 00 1 00 with Solid I covered with lling shall right all size of standard shall right shall size of standard shall right shall shall size of standard shall size of standard shall shall size of standard shall shall shall shall shall size of standard shall	I diagonally at a of hinges in a of angle sect as 2nos. one a conference of double lead of the door side of the door side of the at 1.1Kg/m is an appropriate wisting of fractionary as directly an appropriate of the conference of	the rear side double leaves alon spliced at the top and af door at lockner lock rail so and addition door at an approvided on the place in the me during tracted by the desportation to see tubes for the olid PVC sheet osition includ 50mm x 30mm. The over	e of the s shutter to the ends the other at c rail section ection of the lal provision oppopriate the one door. A tie insportation epartmental site of work, 2.10 /No 19 Gauge cop, lock its. Shutter ing m. The er all size of	76/10
24	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer from the bottom are provided 1 in the door in single leaf dodoor One rotaing locking a for locking arrangements for place. Incase of double leas hutter t conceal the gap to bar is provided at the bottom of fixing. All members are officers. The rate includes loading, un loading and all Door D1 Single Leaf Supplying and fixing PV 19mm MS square tubes for and bottom rails. The stee using 5mm thick solid PVC necessary furniture and fittower all size of top rail, Lower steeds to the steed of the size of top rail, Lower steeds to the steed of the size of top rail, Lower steeds to the size of top r	case asts 1 ames no. A cor, our rang for local decoration of e give cost of other style sheet lings. ck rais own,	of s 20 i of the ldrop ine r eme is is the entire income or ling is ar Th I and	M.S. flatingle long is provided S. Flating two frame coat of material dental de	et is provided eaf and 6nos length made r. Tower bold incase drop is provided incase drop is provided incase ed on the red on the red oxide prials, labour charges etc. 1 00 1 00 with Solid I covered with lling shall right all size of state of rabate for the state of state	I diagonally at a of hinges in a of angle sect as 2nos. one a conference of double lead of the door side of the door side of the at 1.1Kg/m is an appropriate wisting of fractionary as directly an appropriate of the conference of	the rear side double leaves double leaves sion spliced at the top and af door at lockner lock rail sir and addition door at an approvided on the place in the me during tracted by the desportation to significant of the sportation of the place in the me during tracted by the desportation to significant with the sportation of the place in the sportation to significant with the sportation including the place in t	s of the s shutter to the ends the other at crail section ection of the lal provision propriate the one door. A tie insportation epartmental site of work, 2.10 /No 19 Gauge top, lock tts. Shutter ing m. The er all size of ding sliding	7610
24	shutter, 3nos. of hinges in be provided 6nos. of holdf are welded to the outer from the bottom are provided 1 in the door in single leaf dodor One rotaing locking a for locking arrangements for place. Incase of double leashutter t conceal the gap to bar is provided at the bottom of fixing. All members are officers. The rate includes loading, un loading and all Door D1 Single Leaf Supplying and fixing PV 19mm MS square tubes for and bottom rails. The steep using 5mm thick solid PVC necessary furniture and fixing shall be 50mm x 45 arrangements.	case asts 1 ames no. A cor, our rang for local decoration of the cost of the c	of s 20 i of the drop of the d	1.S. flatingle lomm in the door of is provided so the second of the seco	et is provided eaf and 6nos length made r. Tower bolid ovided incass ldrop is provided on the red on the red on the red on the red oxide prials, labour charges etc. 1 00 1 00 with Solid I covered with lling shall right all size of standard shall right shall size of standard shall right shall shall size of standard shall size of standard shall shall size of standard shall shall shall shall shall size of standard shall	I diagonally at a of hinges in a of angle sect as 2nos. one a conference of double lead of the door side of the door side of the at 1.1Kg/m is an appropriate wisting of fractionary as directly an appropriate of the conference of	the rear side double leaves alon spliced at the top and af door at lockner lock rail so and addition door at an approvided on the place in the me during tracted by the desportation to see tubes for the olid PVC sheet osition includ 50mm x 30mm. The over	e of the s shutter to the ends the other at c rail section ection of the lal provision oppopriate the one door. A tie insportation epartmental site of work, 2.10 /No 19 Gauge cop, lock its. Shutter ing m. The er all size of	7610

SI.	luggedálák ezőlentésebb		Nac		Mea	surements in		Contents	Amount
No	Description of work		Nos		Length	Breadth	Depth	Contents	Amount
	Fabricating, Supplying								
	Leaves) with the followin								
	of size 33 x 25 x 3mm at								A Commission of
	2.28kg/m and shutter sec								
	IS 7452/1990. Each open								
	separate operations and e							- 1	
- 1	gauge cold rolled sheet of			2.5	•			1	
	stiffeners using 18x5mm I								
	diagonal stiffners of the sa								
	length welded to the shutt							A A (1)	
	sturdy hinges and one nur								
	flats are revetted to the sl	nutte	rs at	an ap	propriate he	ight in window	ı. suitable ope	ening is left	
	for its easy operation. a st	oppe	r sq	uare r	od for handle	e is provided ir	the mullion	section at	
	suitable place to catch the								
	made out of 18×5 mm at								
	position. A matching peg i								
	Nos. of hold fasts of 120m								
- 3	window by using MS flat o						utter at two p	lace	
	equivalent from each from	top	and	bottor	m of the shu	tter.			
	Window W	1	x	3	1.00		1.30	3.90	
- 1	per provincia d'una estación este está	3000	or	1200	3.90	Sqm @Rs	4069.95	/Sqm	15873
27	Fabrication, supply and size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic	ame a ection d tow k pin	ng in and in n for ward: ward:	M.S. Fl frame s centi ded gla	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo	x 3 mm for fix cial type of Ho nd fxing the we r all panels and	xing the weld ld fast welded eldmesh 25m d fixing the gl	mesh and d to the m square lass panels	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess	ection ection ed town k pin ties was g neces ary was	ng in and for ward: whead with essa	M.S. Fl frames cention ded gla require ry disr power	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e	ox 3 mm for fix cial type of Ho and fxing the we reall panels and sand washers aking holes in Faxtend required	xing the weld ld fast welded ld fast welded ld	mesh and d to the m square lass panels t of red beams,	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis	ame a ection of town of the violation of the violation of the violation of the violation of the violation of the violation of	ng in and f n for ward: head with essa with p	M.S. Fl frames cent ded gla require ry disr cower rected	tion of 'N' t lat of size 20 glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa	ox 3 mm for fix cial type of Ho and fxing the we reall panels and sand washers aking holes in Faxtend required	xing the weld defeat weldered defeat weldered defeat weldered defeat well and one coal and made gers.	mesh and I to the m square lass panels t of red beams, ood to the	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess	ection ection ed town k pin ties was g neces ary was	ng in and for ward: whead with essa	M.S. Fl frames cention ded gla require ry disr power	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa	x 3 mm for fix cial type of Ho and fxing the we reall panels and sahers and washers aking holes in Fixtend required office	xing the weld defast welded ld fast welded ld fast welded ld fixing the gland one coal RCC columns, and made gers.	mesh and d to the m square lass panels t of red beams, ood to the	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V	ame a ection d tovek pin ties v g nectary w sing a	ng in and for wards with essauith pas dir	M.S. Fi frame s centreded glader require ry disr power rected	tion of 'N' t lat of size 20 glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 4.00	ox 3 mm for fix cial type of Ho and fxing the we reall panels and sand washers aking holes in Faxtend required	xing the weld ld fast welded ld fast welded ld fast welded ld fixing the gland one coal RCC columns, land made gers. 0.60 2010.00	mesh and I to the m square lass panels t of red beams, ood to the 2.16 /No	8040
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis	ame a ection of town of the violation of the violation of the violation of the violation of the violation of the violation of	ng in and for wards with essa with x	M.S. Fl frames cent ded gla require ry disr cower rected	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60	x 3 mm for fix cial type of Ho nd fxing the we r all panels and s and washers aking holes in F xtend required rtmental office No @Rs	xing the weld ld fast welded ld fast welded ld fast welded ld fixing the gland one coal RCC columns, land made gers. 0.60 2010.00 0.60	mesh and did to the misquare lass panels to fred beams, cood to the 2.16 //No 0.36	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V	ame a ection d tov k pin ties v g nec ary w sing a 4	ng in and for wards with essa with x	M.S. Fi frames s centided gla requirery disr cower rected 1	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00	x 3 mm for fix cial type of Ho nd fxing the we r all panels and s and washers aking holes in F xtend required rtmental office No @Rs No @Rs	xing the weld did fast welded did fast welded did fixing the gland one coal and one coal and made gers. 0.60 2010.00 0.60 1187	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No	8040 1187
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A	ame a ection de tove k pinties van de tove de	ng in for for for wards with essa dill x	M.S. Fi frame fram	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00	x 3 mm for fix cial type of Ho nd fxing the we r all panels and s and washers aking holes in F xtend required rtmental office No @Rs No @Rs	xing the weld did fast welded did fast welded did fixing the gland one coal and one coal and made gers. 0.60 2010.00 0.60 1187	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V	ame a ectioned toward ties was necessary wasing a family	ng in formand from formand from formal from formal from formal from formal from from formal from from from from from from from from	M.S. Fi frame fram	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns	x 3 mm for fix cial type of Ho nd fxing the we r all panels and s and washers aking holes in F xtend required rtmental office No @Rs Witable 100 x	xing the weld did fast welder did fast welder did fixing the gland one coat RCC columns, and made gers. 0.60 2010.00 0.60 1187	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No	1187
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam	ame a ection d tow k pin ties w g nec ary w sing a 4	ng in for and from the action of the action	M.S. First frame is central frame is central frame is central frame is central frame in the central frame is central frame in the central frame is central frame in the central frame in the central frame is central frame in the central frame in the central frame is central frame in the central frame in the central frame is central frame in the central frame in the central frame is central frame in the central frame in the central frame is central frame in the central	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns	x 3 mm for fix cial type of Ho nd fxing the we r all panels and s and washers aking holes in F xtend required rtmental office No @Rs No @Rs uitable 100 x	xing the weld id fast welded ld fast welded ld fast welded ld fixing the gland one coal RCC columns, and made gers. 0.60 2010.00 0.60 1187 100 Teak Wo	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No ood Board	
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam	ame a ection of the control of the c	ng in for and for a for	M.S. First frame s central fra	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns h of 500V gr	x 3 mm for fix cial type of Ho and fxing the we reall panels and sand washers alking holes in Fixtend required attendal office. No @Rs No @Rs Ruitable 100 x 282 ade with Fuse	xing the weld king the welder	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No ood Board	1187
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam	ame a ection of the control of the c	ng in for and for a for	M.S. First frame s central fra	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns h of 500V gr	x 3 mm for fix cial type of Ho and fxing the we reall panels and sand washers alking holes in Fixtend required attendal office. No @Rs No @Rs Ruitable 100 x 282 ade with Fuse	xing the weld king the welder	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No ood Board	1187
27	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam	ame a ection of the section of the s	ng in for and for a for	M.S. Fi frame frame s centi ded gla require ry disr power rected 1 1 28 D Switce color	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns h of 500V gr	x 3 mm for fix cial type of Ho and fxing the we reall panels and sand washers alking holes in Fixtend required attendal office. No @Rs No @Rs Ruitable 100 x 282 ade with Fuse	xing the weld king the welder	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No ood Board	1187
28 28 29	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam	ame a ection of the control of the c	ng in normal for norma	M.S. First frames sent ded glarequire require rected 1 1 1 1 28 1 2 Switce color 1 34/0.3	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns No th of 500V gr with PWD E at Rs	x 3 mm for fix cial type of Ho and fxing the we reall panels and sahers and washers aking holes in Fixtend required remental office. No @Rs No @Rs No @Rs uitable 100 x 282 ade with Fuse arthling (SD No en insulated and ending insulated ending insula	xing the weld id fast welder deldmesh 25m deldmesh 25m deldmesh 25m deldmesh 25m deldmesh 2010 deldmesh 2010.00 deldmesh 2010	mesh and dito the misquare lass panels to fred beams, cood to the 2.16 /No 0.36 /No cood Board on suitable	1187
28 28 29	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam Supply and fixing of 16 An T.W. board with painting of Supply and run of 2 of 6 s	ame a ection of the control of the c	ng in normal for norma	M.S. First frames sent ded glarequire require rected 1 1 1 1 28 1 2 Switce color 1 34/0.3	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns No th of 500V gr with PWD E at Rs	x 3 mm for fix cial type of Ho and fxing the we reall panels and sahers and washers aking holes in Fixtend required remental office. No @Rs No @Rs No @Rs uitable 100 x 282 ade with Fuse arthling (SD No en insulated and ending insulated ending insula	xing the weld id fast welder deldmesh 25m deldmesh 25m deldmesh 25m deldmesh 25m deldmesh 2010 deldmesh 2010.00 deldmesh 2010	mesh and dito the misquare lass panels to fred beams, cood to the 2.16 /No 0.36 /No cood Board on suitable	1187
228	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam Supply and fixing of 16 An T.W. board with painting of Supply and run of 2 of 6 s	ame a ection of the control of the c	ng in for and fin for wards with pessa difference with pessa diffe	M.S. First frames scentified glarequirery distribution of the second of	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns No th of 500V gr with PWD E at Rs 0) polythene for Service C	x 3 mm for fix cial type of Ho and fxing the were all panels and sand washers alking holes in Fixtend required remental office. No @Rs No @Rs Ruitable 100 x 282 ade with Fuse arthling (SD No arthling (xing the weld id fast welder deldmesh 25md fixing the gland one coal RCC columns, and made gers. 0.60 2010.00 0.60 1187 100 Teak Wood And Neutral (0.154) / Each PVC unsheat 1 - SD.64	mesh and d to the m square lass panels t of red beams, ood to the 2.16 /No 0.36 /No ood Board on suitable thed S.C. Alu	282 2892
28 29 30	size 25 x 25 x5 mm for frausing 25 x 22 x3 mm 'T' s frame of 45 degree incline including cost of 3mm thic with necessary clips & put oxide primer etc. including masonry wherever necess original conditions after fis Ventilator V Ventilator V Supply and fixing of 15 A Concealed box Using Clam Supply and fixing of 16 An T.W. board with painting of Supply and run of 2 of 6 s	ame a ection of the section of the s	ng in and fin for wards with pessa with pess	M.S. First frames seemed ded glarequire rected 1 1 1 1 28 1 28 1 28 1 29 20 0 0	tion of 'N' t lat of size 20 e glass. Spe re for wall ar ass panes fo ed bolts, nut mantling, ma drill to the e by the depa 0.90 4.00 0.60 1.00 t (500A) uns No h of 500V gr with PWD E at Rs 0) polythene for Service Co at Rs	x 3 mm for fix cial type of Ho and fxing the were all panels and sand washers aking holes in Fixtend required remental office. No @Rs No @Rs No @Rs witable 100 x 282 ade with Fuse arthling (SD No arth	xing the weld id fast welded id fast welded id fast welded id fast welded id fixing the gland one coal and one coal and made gers. 0.60 2010.00 0.60 1187 100 Teak Wold id	mesh and dit to the misquare lass panels to fred beams, condition to the seams, last part of the seams of the	1187

SI.	Description of work		No		Mea	surements i	n "m"	Contents	A
No	- COST PRIOR OF WORK		140		Length	Breadth	Depth	Contents	Amour
	Service Pipe	1	x	1	3.00	-	_	3.00	
			3.0	0	at Rs	605.00	/Each		1815
32	Supplying and fixing of CF	FL inc	cludi	ng all	cost and conv	veyance to wo	rk site etc co	mplete	
	CFL Light	1	х	6	-	-	-	6.00	
			6.0	0	at Rs	300.00	/Each		1800
33	Supply and fixing of W.T. bulb with PVC unsheathed	Bulk lead	hea ds fro	d fittii om te	ng complete w	vith guard suit fitting - SD. 8	able for lamp	with 40 W	
	Bulk head fitting.	1	×	1	-	_	-	1.00	
			1.0	0	at Rs	610.00	/Each		610
34	Wiring with 2 x 2.5 Sq.mn pipe on wall and ceiling w with nylon sheet of 3mm t Fan Point SD 25	ith P thick	VC a with	ccesson paint	ories with T.W	/. Switch box	in flush with v	vall, covered ight point /	
	Light point	1	×	7	-	-	•	7.00	
		<u> </u>	7.0		at Rs.	2193.00	/Each		15351
- 1	Wiring with 2 x 2.5 Sq.mn pipe on wall and ceiling wi	ith P\	√C a	ccesso	ories with 150	\times 100 \times 113r	nm T W swite	h boxin I	
35	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s	ith P\ ith ny uitab	VC adylon ole co	sheet olor fo	of 3mm thick	5 Amps 3 pir	non - interlo	cking C.S.	
35	pipe on wall and ceiling wi flush with wall, covered wi	ith P\ ith ny uitab	VC a ylon ole co	sheet olor fo	of 3mm thick or open PVC p	5 Amps 3 pir lug point S	n non - interlo D -36.	ch box in cking C.S.	2262
35	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s	ith P\ith ny uitab	ylon ole co x	sheet plor fo 2	of 3mm thick or open PVC p at Rs	5 Amps 3 pir lug point S	n non - interlo D -36. /Each	cking C.S.	2262
35	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin	ith P\ith ny uitab	ylon ole co x	sheet plor fo 2	of 3mm thick or open PVC p at Rs	5 Amps 3 pir lug point S	n non - interlo D -36. /Each	cking C.S.	2262
35 36	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD	ith P\ ith ny iuitab 1 ng far 110	ylon ole co	sheet plor for 2 0 luding	of 3mm thick or open PVC p at Rs	5 Amps 3 pir lug point S	n non - interlo D -36. /Each	2.00	2262
35	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD	ith P\ ith ny iuitab 1 ng far 110	ylon ple co x 2.00 inc	sheet plor for 2 0 luding	of 3mm thick or open PVC p at Rs cost and con	5 Amps 3 pir lug point S 1131.00 veyance of all	/Each materials an	2.00	
335	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan	ith P\ ith ny iuitab 1 ng far 110	ylon ple co x 2.00 inc	sheet plor for 2 0 luding	of 3mm thicker open PVC p at Rs cost and con - at Rs	5 Amps 3 pir lug point S 1131.00 veyance of all	/Each materials an	2.00	
335	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal	ith Phith my uitab	X 2.00	sheet plor for 2 Duding	of 3mm thicker open PVC p at Rs cost and con at Rs	1131.00 veyance of all	/Each materials an /Each	2.00 d labor 1.00	
335	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin	ith Phith ny uitab	VC avylon ble co	sheet plor for 2 Description of the control of the	of 3mm thicker open PVC p at Rs cost and con - at Rs	1131.00 veyance of all	/Each materials and /Each	2.00 d labor 1.00 1.00 / No	2285
335	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal	ith Phith my uitab	X 2.00	sheet plor for 2 Duding	at Rs cost and con at Rs 1.00	t 5 Amps 3 pir lug point S 1131.00 veyance of all - 2285.00 nos @Rs.	/Each materials and /Each /Each	2.00 d labor 1.00 / No 1.00	2285 3796
35 36 37 38	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal IWC For Toilet	ith Phith my uitable of the phith ph	VC avylon ble co	sheet clor for 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	at Rs cost and con at Rs 1.00	1131.00 veyance of all 2285.00 nos @Rs.	/Each materials an /Each /Each 3796.09	2.00 d labor 1.00 1.00 / No	2285 3796 5154
35 36 37 38	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal IWC For Toilet Provision for Rain water Ha	ith Phith my uitable of the phith in the phi	VC average	sheet clor for 2 Deluding 1 Struce	at Rs cost and con at Rs to the state of t	to 5 Amps 3 pir lug point S 1131.00 veyance of all - 2285.00 - nos @Rs. all charges e	/Each materials and /Each /Each 3796.09	2.00 d labor 1.00 / No 1.00 / No	2285 3796 5154 10000
35 36 37 38 40	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal IWC For Toilet Provision for Rain water Ha	ith Phith my uitable of the phith in the phi	VC average	sheet clor for 2 Deluding 1 Struce	at Rs cost and con at Rs to the state of t	to 5 Amps 3 pir lug point S 1131.00 veyance of all - 2285.00 - nos @Rs. all charges e	/Each materials and /Each /Each 3796.09	2.00 d labor 1.00 1.00 / No 1.00 / No	2285 3796 5154 10000 20000
35 36 37 38 38 40	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal IWC For Toilet Provision for Rain water Hall Provision For soak pit	ith Phith my uitable of the phith in the phi	VC average very long very	sheet plor for 2 Deluding 1 Structure ments	at Rs cost and con at Rs to the state of t	to 5 Amps 3 pir lug point S 1131.00 veyance of all - 2285.00 - nos @Rs. all charges e	/Each materials and /Each /Each 3796.09	2.00 d labor 1.00 / No 1.00 / No	2285 3796 5154 10000
35 36 37 38 38 40	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal IWC For Toilet Provision for Rain water Ha	ith Phith my uitable of the phith in the phi	VC average very long very	sheet plor for 2 Deluding 1 Structure ments	at Rs cost and con at Rs to the state of t	to 5 Amps 3 pir lug point S 1131.00 veyance of all - 2285.00 - nos @Rs. all charges e	/Each materials and /Each /Each 3796.09	2.00 d labor 1.00 1.00 / No 1.00 / No	2285 3796 5154 10000 20000
35 36 37 38 38 40	pipe on wall and ceiling wi flush with wall, covered wi Plug top with painting of s Plug point. Supply and Fixing of Ceilin charges etc complete. SD Ceiling fan Wash basin Without Pedestal IWC For Toilet Provision for Rain water Hall Provision For soak pit	ith Phith my uitable of the phith in the phi	VC average very long very	sheet plor for 2 Deluding 1 Structure ments	at Rs cost and con at Rs to the state of t	to 5 Amps 3 pir lug point S 1131.00 veyance of all - 2285.00 - nos @Rs. all charges e	/Each materials and /Each /Each 3796.09	2.00 d labor 1.00 1.00 / No 1.00 / No Specials etc LS	2285 3796 5154 10000 20000

SI.			Mea	surements in	"m"		
No	Description of work	on of work Nos		Breadth	Depth	Contents	Amount
45	Price Escalation charges 7	%					76712
46	Provision for Name Boards	including al	II charges etc co	mplete		L.S	1000
47	Provision for Photographic	charges inc	luding all charge	es etc complete	e	L.S	1000
48	Provision for P.S.Charges	and conting	encies			LS	606
:					Total		1356000

DETAILED CUM ABSTRACT ESTIMATE

NAME OF WORK :-

Construction of PDS MODEL 2

Estimate Amount

SI.	Description of work Nos				Me	Measurements in "m"			
No	and the second second				Length	Breadth	Depth	Contents	Amount
1	Earth work excavation in all claus bank with initial lead of 10M as such as shoring, strutting, prodepth	nd lift	of 2	2M inc	luding all la	bour charges	and incidenta	charges	
	Column	1	×	8	1.30	1.30	0.30	4.06	
	Grade Beam								
	MAIN BUILDING All-round	1	x	1	21.08	0.35	0.30	2.21	
	Toilet	1	x	1	1.98	0.35	0.30	0.21	
	cross wall	1	х	1	3.25	0.35	0.30	0.34	
	All round Deduct column	1	х	-8	0.23	0.35	0.30	-0.19	
	Portico	1	×	1	9.36	0.35	0.30	0.98	
	Ramp	1	×	2	6.00	0.30	0.30	1.08	
					1			8.69	
			or		8.69	Cum @Rs	304.46	/Cum	2646
2	Earth work excavation in all cla bank with initial lead of 10M an such as shoring, strutting, prov depth	d lift	of 2	M incl	uding all la	ock requiring to bour charges a	plasting depos	siting on charges	
2	bank with initial lead of 10M an such as shoring, strutting, prov depth	id lift riding	of 2	M incl er da	uding all la ms, bailing	ock requiring t bour charges a out of water el	plasting depos and incidental tc., in SDR So	siting on charges il- 2nd	
2	bank with initial lead of 10M an such as shoring, strutting, prov depth Column	d lift	of 2	M incl	uding all la	ock requiring to bour charges a	plasting depos	siting on charges il- 2nd	
2	bank with initial lead of 10M an such as shoring, strutting, providepth Column Grade Beam	id lift riding	of 2 coff	M incl er da	uding all la ms, bailing	ock requiring t bour charges a out of water el	plasting depos and incidental tc., in SDR So	siting on charges il- 2nd	
	bank with initial lead of 10M an such as shoring, strutting, prov depth Column	id lift riding	of 2 coff	M incl er da	uding all la ms, bailing	ock requiring t bour charges a out of water el	plasting depos and incidental tc., in SDR So	siting on charges il- 2nd	
	bank with initial lead of 10M an such as shoring, strutting, providepth Column Grade Beam MAIN BUILDING All-round	id lift riding 1	of 2 coff	M incl er dai 8	uding all la ms, bailing 1.30	ock requiring to bour charges a out of water el	plasting depose and incidental tc., in SDR So 0.30	siting on charges il- 2nd 4.06	
	bank with initial lead of 10M an such as shoring, strutting, providepth Column Grade Beam MAIN BUILDING All-round grade Beam	nd lift riding 1	of 2 coff x	M incler dans	uding all la ms, bailing 1.30 21.08	ock requiring to bour charges a out of water el 1.30	plasting depos and incidental tc., in SDR So 0.30	siting on charges il- 2nd 4.06 1.48	
	bank with initial lead of 10M and such as shoring, strutting, providepth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet	nd lift riding 1 1	of 2 coff	M incler dans	uding all lams, bailing 1.30 21.08 1.98	ock requiring to bour charges a out of water element of the bound of t	plasting depos and incidental tc., in SDR So 0.30 0.20	siting on charges il- 2nd 4.06	
	bank with initial lead of 10M and such as shoring, strutting, providenth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet cross wall	id lift riding 1 1	of 2 cofff x x x x	M inc er da ৪ 1 1	1.30 21.08 1.98 3.25	ock requiring to bour charges a out of water element of the control of the contro	olasting depos and incidental tc., in SDR So 0.30 0.20 0.20	1.48 0.14 0.23	
	bank with initial lead of 10M and such as shoring, strutting, providenth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet cross wall All round Deduct column	id lift riding 1 1 1	x x x x	M incler date of the second se	1.30 21.08 1.98 3.25 0.23	ock requiring to bour charges a out of water element of the second of th	olasting deposited incidental tc., in SDR So 0.30 0.20 0.20 0.20 0.20	1.48 0.14 0.23	
	bank with initial lead of 10M and such as shoring, strutting, providenth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet cross wall All round Deduct column	id lift riding 1 1 1	x x x x	M incler date of the second se	21.08 1.98 3.25 0.23 9.36	ock requiring to bour charges a out of water element of the second of th	olasting deposited incidental tc., in SDR So 0.30 0.20 0.20 0.20 0.20	1.48 0.14 0.23 0.66	2420
3	bank with initial lead of 10M and such as shoring, strutting, providenth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet cross wall All round Deduct column	od lift riding 1 1 1 1 1 sses (of 2 cofff x x x x x x x or	M incler date of the second of	1.30 21.08 1.98 3.25 0.23 9.36 6.44 (cept hard rouding all lab	0.35 0.35 0.35 0.35 0.35 0.35 0.35	olasting deposed on the incidental strain of the incidental strain of the incidental of the incidental olasting deposed on the incidental olasting deposed o	1.48	2420
3	bank with initial lead of 10M and such as shoring, strutting, providepth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet cross wall All round Deduct column Portico Earth work excavation in all class bank with initial lead of 10M and such as shoring, strutting, providents	od lift riding 1 1 1 1 1 sses (x x x x x x x x or	M incler date of the second of	1.30 21.08 1.98 3.25 0.23 9.36 6.44 (cept hard rouding all lab	0.35 0.35 0.35 0.35 0.35 0.35 0.35	olasting deposed on the incidental strain of the incidental strain of the incidental of the incidental olasting deposed on the incidental olasting deposed o	1.48	2420
3	bank with initial lead of 10M and such as shoring, strutting, providepth Column Grade Beam MAIN BUILDING All-round grade Beam Toilet cross wall All round Deduct column Portico Earth work excavation in all class bank with initial lead of 10M and such as shoring, strutting, providepth	od lift riding 1 1 1 1 the sees of difft iding	of 2 coffee	M incler date of the second se	1.30 21.08 1.98 3.25 0.23 9.36 6.44 (cept hard rouding all lates, bailing of	0.35 0.35 0.35 0.35 0.35 0.45 0.35 0.45 0.45 0.45 0.45 0.45 0.45 0.45 0.4	0.30 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20	1.48	2420

SI.		4 200	42,61	tep\$	Me	asurements ii	n "m"		•					
No	Description of work		Nos	s V 410	Length Breadth		Depth	Contents	Amount					
4	Supplying and Filling foundation and basement with filling M sand in layers not more than 15cm. Thick well rammed, watered and compacted Complete complying with standard specification.													
	Column	1	x	8	1.30	1.30	0.10	1.35						
	Flooring													
	Flooring store-Grains	1	x	1	4.150	3.60	0.10	1.49						
	Flooring store-Grains	1	х	1	1.27	0.600	0.10	0.08						
	Flooring Kerosene	1	x	1	2.10	2.10	0.10	0.44						
	Flooring Toilet	1	×	1	1.50	1.27	0.10	0.19						
	Grade Beam								-					
	MAIN BUILDING All-round	1	x	1	21.08	0.35	0.10	0.74	ar Turkan					
	Toilet	1	×	1	1.98	0.35	0.10	0.07	Ara .					
	cross wall	1	×	1	3.25	0.35	0.10	0.11						
	All round Deduct column	1	×	-8	0.23	0.35	0.10	-0.06						
	Portico	1	×	1	9.36	0.35	0.10	0.33	ing (1) Property					
	Ramp	1	×	2	6.00	0.30	0.10	0.36						
	Ramp	1	×	1	6.00	1.04	0.10	0.62						
								5.72						
			or	i ilayy (5.72	Cum @Rs	1716.85	/Cum	9820					
5	Cement concrete 1:4:8 wherever necessary and laid complying with standard spec	in laye	rs of	not n	nore than 1									
	Column	1	x	8	1.30	1.30	0.10	1.35	Metall Allacolorum 1					
	Flooring				Websi 4									
	Flooring store-Grains	1	х	1	4.150	3.60	0.10	1.49						
	Flooring store-Grains	1	х	1	1.27	0.600	0.10	0.08						
	Flooring Kerosene	1	х	1	2.10	2.10	0.10	0.44						
	Flooring Toilet	1	х	1	1.50	1.27	0.10	0.19						
	Grade Beam													
	MAIN BUILDING All-round		×	11	21.08	0.35	0.10	0.74						
	Tollet		х	1	1.98	0.35	0.10	0.07						
	#[[[전문]] [[[[[]]] [[[]] [[] [[]] [[] [[] [[]	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	x	1	3,25	0.35	0.10	0,11						
	cross well	1.1	^	1,747,737,74				2.65	State Service Control					
		1 1	×	-8	0.23	0.35	0.10	-0.06						
	cross wall	44 5.455.0	22.57	-8 1	0.23 9 36	0.35 0.30	0.10 0.10	-0.06 0.28						
	cross wall All round Deduct column	121	х		11 m 1 m 1 m 1 m 1 m	<u>Contrological Contrological Sectors (Contrological Sectors (Contrologica) Sectors (Control</u>	Lasta la dell'independent	<u> Artista artika erakta erakta</u>						

SI.	Description of work	1			. M	easurements	in "m"	_	
No	Description of work		No	S	Length	Breadth	Depth	Contents	Amount
						2		5.63	
			or		5.63	Cum @Rs	4988.11	/Cum	2808
6	Filling in Basement with co rammed, watered and consolid	n vey dated	ed e	earth iplyin	in layers o g with stan	f not more than dard specificati	n 15cm. Thick ions etc., com	well plete.	
	Flooring store-Grains	1	x	1	4.150	3.60	0.30	4.48	
	Flooring store-Grains	1	х	1	1.27	0.600	0.30	0.23	
	Flooring Kerosene	1	x	1	2.10	2.10	0.30	1.32	
	Ramp	1	×	2	6.00	0.30	0.15	0.54	
	Flooring Toilet	1	x	1	1.50	1.27	0.30	0.57	
								7.14	
			or		7.14	Cum @Rs	38,95	/Cum	278
7	Brick work in CM 1:5mix us following including curing etc.,	i ng c com	oun plete	try b	ricks grour plying with	nd molded of si standard speci	ze 23 x 11 x 7 fications.	cm for the	
I]	For foundation and baseme	nt							
	main walls all-round	1	×	1	21.08	0.23	0.50	2.42	
	Cross wall	1	×	1	3.37	0.23	0.50	0.39	· · · · · · · · · · · · · · · · · · ·
	Toilet	1	×	1	2.1	0.23	0.50	0.24	
	Deduct column	1	×	-6	0.23	0.23	0.50	-0.16	
	Raised platform	1	х	1	8.05	0.23	0.20	0.37	
	Ramp	1	×	2	6.00	0.23	0.15	0.41	
	Step	1	×	1	5.51	0.30	0.15	0.25	
	Step -Toilet	1	x	1	1.50	0.30	0.15	0.07	
	Step -Toilet	1	x	1	1.50	0.30	0.15	0.07	
			17.4					4.06	
			or		4.06	Cum @Rs	5710.72	/Cum	23186
i]	For superstructure in groun	d flo	<u>or</u>	ar 47		Taitad:			
	Superstructure	£36		133					
	main walls all-round	1	x	1	21.08	0.23	2.23	10.79	
	Cross wall	1	х	1	3.37	0.23	2.23	1.72	
	Toilet	1	x	1	2.1	0.23	2.23	1.07	
	Deduct column	1	x	-6	0.23	0.23	2.23	-0.08	
	Parapet	1	x	1	6.94	0.23	0.60	0.96	
	DEDUCTIONS								
	Rolling Shutter Rs	1	х	-1	2.10	0.23	2.40	-1.16	
	Rolling Shutter Rs1	1	x	-1	1.80	0.23	2.40	-0.99	esperations

SI.	Baraniakian afanania				Me	asurements	in "m"	Combonto	Amazzat
No	Description of work		Nos	5	Length	Breadth	Depth	Contents	Amount
	Window	1	×	-1	1.00	0.23	1.30	-0.30	
	Door D1	1	×	-1	1.00	0.23	2.10	-0.48	
	Door D2	1	×	-1	0.90	0.23	2.10	-0.43	
	Ventilator V	1	×	-3	0.90	0.23	0.60	-0.37	
	Ventilator V1	1	×	-1	1.20	0.23	0.60	-0.17	
								10.56	
			or		10.56	Cum @Rs	5789.62	/Cum	61138
8	Supplying and Fabricating a reinforced cement concrete wo wire in all floors etc, Complete	rks a	s pe	r the	design give	n including co			
	Footing	1	×	1	3.37	50.00	168.5	Kg/m3	
	Grade Beam	1	×	1	2.83	100.00	283	Kg/m3	
	Column	1	×	1	2.05	200.00	410	Kg/m3	
	Lintel And Sunshade	1	×	1	1.33	80.00	106.4	Kg/m3	
	Roof beam all round	1	x	1	1.94	175.00	339.5	Kg/m3	<u> </u>
	Roof Slab	1	х	1	5.23	80.00	418.4	Kg/m3	
					16.75		1725.8		
	and the second s				1.730	MT@ Rs	88977,45	/MT	153931
	up to 3.29m height for plane s of size 90 x 60cm & 10 gauge boarding laid over silver oak jo and supported by casuarinas p complying with standard specifor the following items	stiffer pists (rops (ficatio	ned, Coun of 10	welde try w) - 13	ed with stee ood) of size cm dia. spa	el angle of size 10 x 6.5cm s ced @ 75cm c	25 x 25 x 3m paced @ about c/c etc., comple	m for : 90cm c/c ete	
1]	Centering below Ground lev	T			ı ı				
	For columns up to Ground	1	X	8	1.20		0.15	and the state of t	
	level	1	Х	8	1.21		0.50	lacio e la mila adverta. Società e esta esta esta esta esta esta esta es	an ja kija kia ara arabi ara <u>Santa baratan baratan barat</u> Perturungan
	Total			igno sice	edicida percentral de la constanta de la const	it is a new spirit amount in interpretation and a		6.28	
			6.28	3	m²		476.50	/m2	2992
ĭi]	Rate for column post	n a Sacolys (average)							
-#1801 	For columns Up to Basement	1	Х	8	1.21		0.50	The second seconds	
	Basement to Roof slab	1	X	8	1.21		2.23	21.54	
	Total							26.38	
	at fillet til fill forsta som til spillet til fill som fill som en som en som til state som en som en som en s Litter til state til state som en state til state t		26.3	8	m²		953,00	/m2	25140
111]	Rate for Grade beam ,Linte	L		eldiyə ili Gələri					
	territoria de la companio del la companio del la companio de la companio del la companio de la companio del la companio de la companio de la companio de la companio de la companio del la companio				1				

e karajantika dilifatika adilifata menekaripinangan kepadah menekaripinan menekaran kepadah kalangan beraja di

SI.		Nos			Me	asurements i	n "m"		- estal
No	Description of work		No:	S	Length	Breadth	Depth	Contents	Amount
	Cross wall grade beam	1	X	2	3.37		0.35	2.36	
	Toilet wall grade beam	1	Х	2	2.10		0.30	1.26	
	Lintel all round Beam	1	X	2	21.08		0.25	10.54	
	Int wall	1	X	2	3.37		0.15	1.01	ing and the second seco
	Midwall	1	X	2	2.10		0.15	0.63	
	Lintel Portico Front	1	Х	1	6.94		0.325	2.26	
	Lintel Side Beam	2	X	2	1.27		0.175	0.89	
	Rolling Shutter BottomRS1	1	x	1	1.80	0.23		0.41	er tre
	Rolling Shutter BottomRs2	1	х	1	2.10	0.23		0.48	
	D2 1999 - 1999 - 1999	1	х	1	0.90	0.23		0.21	
	Window Bottom W	1	х	1	1.00	0.23		0.23	
	Ventilator Bottom V	1	х	3	0.90	0.23		0.62	
	Ventilator V1	1	х	1	1.20	0.23		0.28	
	Total							35.94	
			35.9	4	m²		953.00	/m2	3425
iv]	Rate for sunshade								li iz e endi li
	Front Verandah Sunshade	1	Х	1	6.94	1.50		10.41	
	Toilet Door Sunshade	1	х	1	1.50	0.60		0.90	
	Portico Slab	1	Х	1	7.74	1.50		11.61	ikai
٧	Rate for Roof Beam ,Slab								
	Roof beam all round	1	х	2	21.08		0.25	10.54	
	Cross wall Roof beam	1	Х	2	3.37		0.25	1.69	
	Roof slab Office and Toilet	1	x	1	2.10	1.27		2.67	
	Store for Grains	1	х	1	4.75	3.60		17.10	
	Store for Kerosene	1	х	1	1.50	2.10		3.15	
	Roof slab Sides	1	Х	1	22.00		0.125	2.75	
	Portion Sides	1	х	1	10.84		0.125	1.36	
								62.18	
	Total	6	2.18	<u> </u>	m ²	1	953.00	/m2	59258
١٥	Cement concrete 1:1.5:3 usicost of Rein forcemeat and fabriand providing fixtures like fan cemearing surfaces of walls, sides with cement mortar 1:3, 12mm	icatir Iamp and	ng ch s in t botte	arges he R om o	s, centering a CC floor or n f the slabs, b	and shuttering oof slabs wher beams etc., sha	but including ever necessar all be finished	curing ry and smooth	

SI.		25,527	74(71)	54455	Me	asurements in	Age La Araya	Amount	
No	Description of work		Nos	5	Length	Breadth	Depth	Contents	Amount
	Column footing	1	X	8	1.200	1.200	0.150	1.73	
	Column footing	1	х	8	(1.2^2+0. (1.2x0.35)	35^2+ Sqrt	0.300	1.64	
	For columns up to Ground	1	×	8	0.23	0.375	0.50	0.35	orina and and and and and and and and and a
	For columns Up to Basement	1	X	6	0.23	0.375	0.50	0.26	
	Basement to Roof Slab	1	Х	6	0.23	0.375	2.23	1.15	
	Portico Column	1	х	2	0.23	0.230	0.50	0.05	
	Basement to Roof Slab	1	Х	2	0.23	0.230	2.23	0.24	
	Grade beam all round	1	Х	1	21.08	0.230	0.35	1.70	
	Cross wall grade beam	1	Х	1	3.37	0.230	0.30	0.23	
	Toilet wall grade beam	1	Х	1	2.10	0.230	0.30	0.14	
	Portico grade Beam	1	Х	1	9.48	0.230	0.35	0.76	
	Total							8.25	Single of the second
			8.25	5	m³	8369.28	i kanalan da kanalan d Kanalan da kanalan da k	/m3	69047
ii)	For superstructure in groun	d flo	<u>or</u>						
	Lintel all round	1	Х	1	21.08	0.23	0.23	1.12	
	Int wall	1	Х	1	3.37	0.23	0.15	0.12	<u>Gránai</u>
	Mid wall	1	Х	1	2.10	0.23	0.15	0.07	
	Portico Front	1	Х	1	6.94	0.23	0.28	0.44	
	Side beam	1	Х	2	1.27	0.23	0.18	0.10	
	Toilet Door Sunshade	1	X	1	1.50	0.60	0.063	0.06	
	Roof Beam All round	1	X	1	21.08	0.23	0.25	1.21	
	Cross wall Roof Beam	1	X	1	3.37	0.23	0.25	0.19	
	Roof Slab Main Building	1	X	1	6.94	4.36	0.125	3.78	
	Portico Slab	1	X	1	7.74	1.50	0.125	1,45	
	Window sill slab	1	×	1	1.46	0.23	0.075	0.03	
	Total							8.57	
		\$1.5	8.57		m?	8489.13		/11113	72792

		al ev	79430 •••	Marian Marian	M	easurements i	n "m"		Amount
No	Description of work		No	S	Length	Breadth	Depth	Contents	
12	Supply and fixing of Cudda	apah	slat	inclu	ding cost a	and supply of wo	ork site etc co	mplete.	
	50 MM Thick		T	T .				6	
	Storage -Store for Grains	4	×	1	3.25	0.60		7.80	20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
	Storage -	4	×	1	1.27	0.60		3.05	
	A STATE OF THE STA							10.85	
			10.8	35	m²	470.95		/m2	5110
13	Finishing the exposed surface canopy slab, staircase waist s raking the surface. The rate is for sunshades & staircase ste specifications.	lab, la s to in	andir clud	ig slat e the d	etc., with cost of pro	CM 1:3, 10m viding cement n	m thick. inclund the inclunding the including the includ	uding g or nosing	
	Store Roof Bottom Grains	1	X	1	4.15	3.60		14.94	
	Kerosene Roof Bottom	1	X	1	2.10	2.10		4.41	
	Toilet/Storage	/ 1.	Х	1	2.10	1.27		2.67	
	Verandah Roof Bottom	1	×	1	7.74	1.50		11.61	
	Roof Projection front & rear	1,	X	1	6.94	0.30		2.08	gregori Grandani
	Portico Slab	1	Х	1	10.74		0.125	1.34	
								27.05	
			4	1.447	7 11 4 17 11 77		나 그는 그런 하셔요	37.05	
			or		100000000000000000000000000000000000000	Sqm @Rs	279.11	/Sqm	10341
L4	Plastering with CM 1:5,12n curing etc., complete complying departmental officers.	n m th	ick.	over I	the cement	concrete for flo	oor finish inclu	/Sqm	10341
L4	curing etc., complete complying departmental officers. Inside	ng wit	i ck. h sta	over I	the cement I specificat	concrete for flo	oor finish inclu	/Sqm	10341
L4 	curing etc., complete complying departmental officers. Inside store Grainsall-round	nm thong wit	ick.	over I	the cement I specificat 16.70	concrete for flo	oor finish included by the 2.80	/Sqm uding 46.76	10341
L4	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet	ng wit	i ck. h sta	indard	the cement specificat 16.70 5.54	concrete for flo	oor finish inclusted by the 2.80	/Sqm uding 46.76 15.51	10341
14	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round	ng wit	nick. h sta	ndard	the cement I specificat 16.70	concrete for flo	oor finish included by the 2.80	/Sqm uding 46.76	10341
L4 	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside	ng wit	h sta	indard	the cement specificat 16.70 5.54	concrete for flo	oor finish inclusted by the 2.80	/Sqm uding 46.76 15.51	10341
L4 	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round	ng wit	h sta	indard	the cement specificat 16.70 5.54	concrete for flo	oor finish inclusted by the 2.80	/Sqm uding 46.76 15.51	10341
14	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside	i 1 1	x	indarc	16.70 5.54	concrete for flo	2.80	/Sqm uding 46.76 15.51 23.52	10341
14	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x	indard	16.70 5.54 8.40	concrete for flo	2.80 2.80 2.80	/Sqm uding 46.76 15.51 23.52	10341
14	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement Above Basement	1 1 1 1	x x x x	1 1 1	16.70 5.54 8.40 22.00	concrete for fluing and as dire	2.80 2.80 2.80	/Sqm uding 46.76 15.51 23.52 11.00 64.35	10341
L4	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement Above Basement Step Front top	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x x x x	indard	16.70 5.54 8.40 22.00 25.51	concrete for fluing and as dire	2.80 2.80 2.80 2.80 2.80	/Sqm uding 46.76 15.51 23.52 11.00 64.35 1.65	10341
L4	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement Above Basement Step Front top Step	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x x x x x	indard	16.70 5.54 8.40 22.00 22.00 5.51	concrete for fluing and as dire	2.80 2.80 2.80 2.80 0.50 2.93	/Sqm ding 46.76 15.51 23.52 11.00 64.35 1.65 0.83	10341
L4	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement Above Basement Step Front top Step Portico Column	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x x x x x x	1 1 1 1 1 1	16.70 5.54 8.40 22.00 22.00 5.51 5.51 0.92	concrete for fluing and as dire	2.80 2.80 2.80 2.80 0.50 2.93	/Sqm ding 46.76 15.51 23.52 11.00 64.35 1.65 0.83 2.67	10341
L4	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement Above Basement Step Front top Stop Portico Column Parapet	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x x x x x x	1 1 1 1 1 1	16.70 5.54 8.40 22.00 22.00 5.51 5.51 0.92	concrete for fluing and as dire	2.80 2.80 2.80 2.80 0.50 2.93	/Sqm ding 46.76 15.51 23.52 11.00 64.35 1.65 0.83 2.67	10341
L4	curing etc., complete complying departmental officers. Inside store Grainsall-round Toilet Store Kerosene all-round Outside Outside all-round Basement Above Basement Step Front top Step Portico Column Parapet DEDUCTIONS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x x x x x x x	1 1 1 1 1 1 1 2	16.70 5.54 8.40 22.00 22.00 5.51 5.51 0.92 6.94	concrete for fluing and as dire	2.80 2.80 2.80 2.80 0.50 2.93 0.15 2.90	/Sqm uding 46.76 15.51 23.52 11.00 64.35 1.65 0.83 2.67 8.33	10341

X12		4 895			Me	asurements	in "m"		1.4636
No	Description of work		Nos		Length	Breadth	Depth	Contents	Amount
	Window	2	x	-1	1.00	santais A	1.30	-2.60	Granistic
	Ventilator	2	х	-3	0.90		0.60	-3.24	
	Ventilator V1	2	×	-1	1.20		0.60	-1.44	
	Dadooing Qty			7				-5,86	
	Add Soffits								
1.67	Rolling ShutterRs	1	×	1	6.90	0.18		1.24	
	Rolling ShutterRs1	1	х	1	6.60	0.18		1,19	
	Door D2	1	×	1	5.10	0.18		0.92	
	Window	1.	×	1	3.60	0.18		0.65	
	Ventilator	1	х	3	2.10	0.18		1.13	formus Afficial et al.
	Ventilator	1	×	1	2.40	0.18		0,43	
								125.82	il Africa
			or		125.82	Sqm @Rs	242.52	/Sqm	3051
	Kerosene-Store	1	×	1	2.10	2.10		4.41	
	Kerosene-Store Tollet Storage Raised platform	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	x x x x	11	2.10 1.50 1.27 5.51	2.10 1.27 0.60 1.20		4.41 1.91 0.76 6.61	
	Toilet Storage	1 1	x	1	1.50 1.27	1.27		1.91 0.76	
	Toilet Storage	1 1	x	1	1.50 1.27 5.51	1.27	243.99	1.91 0.76 6.61 28.63	698
16	Toilet Storage	1 1 1 type	x x x or e of fi	1 1 1 loorin	1.50 1.27 5.51 28.63 g tiles (Cen	1.27 0.60 1.20 Sqm @Rs nent based Hy plying with t	draulically pres	1.91 0.76 6.61 28.63 /Sqm	698
16	Toilet Storage Raised platform Paving the flooring with specia skid tiles (20mm thick) in C specifications and as direct	1 1 1 type CM 1: ed by	x x x or of fig. 3, 20, the	1 1 1 Oorin Omm	1.50 1.27 5.51 28.63 g tiles (Centhick comartmental	1.27 0.60 1.20 Sqm @Rs nent based Hy plying with t officers.	draulically pres	1.91 0.76 6.61 28.63 /Sqm	698!
16	Toilet Storage Raised platform Paving the flooring with specia skid tiles (20mm thick) in C specifications and as direct Toilet	1 1 1 1 type: EM 1: ed by	or of fl 3, 20, the	1 1 1 1 Ooorin Omm depa	1.50 1.27 5.51 28.63 g tiles (Centhick comartmental	1.27 0.60 1.20 Sqm @Rs nent based Hy plying with tofficers. 1.27	draulically pres	1.91 0.76 6.61 28.63 /Sqm ssed Anti	698
16	Toilet Storage Raised platform Paving the flooring with specia skid tiles (20mm thick) in C specifications and as direct Toilet	1 1 1 1 type: EM 1: ed by	or of fl 3, 20, the	1 1 1 1 Ooorin Omm depa	1.50 1.27 5.51 28.63 g tiles (Cen thick com artmental 1.50 0.45	1.27 0.60 1.20 Sqm @Rs nent based Hy plying with t officers.	draulically pres	1.91 0.76 6.61 28.63 /Sqm ssed Anti 1.91 -0.16	
16	Toilet Storage Raised platform Paving the flooring with special skid tiles (20mm thick) in Competitions and as direct to the competition of the c	1 1 1 type M 1: ed by 1 1 Elles Kg p nts he officer	or of final x	1 1 loorin Omm depi	1.50 1.27 5.51 28.63 g tiles (Centhick comartmental 1.50 0.45 1.75 lor and anyixed with contying with the contying with	1.27 0.60 1.20 Sqm @Rs nent based Hy plying with t officers. 1.27 0.35 Sqm @Rs	draulically pres he standard 1323.29 M 1:2, 10mm to suit the conceptions and approved from to suit the suit th	1.91 0.76 6.61 28.63 /Sqm ssed Anti 1.91 -0.16 1.75 /Sqm hick, and blor of the	
16	Toilet Storage Raised platform Paving the flooring with special skid tiles (20mm thick) in Comparison of the specifications and as direct to the specification of the specificat	1 1 1 type M 1: ed by 1 1 Elles Kg p nts he officer	or of fi	loorin Omm depi 1 1 1 Iny co	1.50 1.27 5.51 28.63 g tiles (Centhick compartmental 1.50 0.45 1.75 lor and any ixed with callying with to	1.27 0.60 1.20 Sqm @Rs nent based Hy plying with t officers. 1.27 0.35 Sqm @Rs	draulically pres he standard 1323.29 M 1:2, 10mm to suit the conceptions and	1.91 0.76 6.61 28.63 /Sqm ssed Anti 1.91 -0.16 1.75 /Sqm hick, and blor of the	231

	Description of work		BT.		. : M	easurements	in "m"	Contents 5.86	Amount
No	Description of work		No	S	Length	Breadth	Depth		
	ente de la companya d		10	•	5.86	Sqm @Rs	1262.93	/Sqm	740:
20	Distempering two coats wi priming coat over new plaster charges	th bes	t ap rfac	prove e and	d oil bound conveyanc	distemper incl e of all materia	uding cost of p Is to site and a	painting all labor	
	Inner Plastering QTY	1	Х	1	98.29	1.00		98.29	
								98.29	
			or		98.29	Sqm @Rs	169.23	/Sqm	16634
21	Exterior Emulsion Two coa and labor charges etc comple	ts ove	r pr	iming	coat includ	ling cost and co	onveyance of a	II materials	
	Outer Plastering QTY	1	X	1	62.10	1.00		62.10	
								62.10	
			or		62,10	Sqm @Rs	231.68	/Sqm	14387
	color over the existing priming as directed by the department	g coat tal offi	etc. cers	, com	plete comp	lying with stand	dard specificat	ions and	
			T	i T	·				
	Rolling Shutter	1	×	2.2	2.10	-	2.40	11.09	
	Rolling Shutter Rolling Shutter	1	T	T	2.10				
		+	x	2.2			2.40	11.09	
	Rolling Shutter	1	x	2.2	1.80		2.40	11.09	
	Rolling Shutter Door D2	1 1	×	2.2	1.80 0.90		2.40 2.40 2.10	11.09 9.50 4.16	
	Rolling Shutter Door D2 Window	1 1 1	x x x	2.2 2.2 2.2 3.2	1.80 0.90 1.00		2.40 2.40 2.10 1.30	11.09 9.50 4.16 4.16	
	Rolling Shutter Door D2 Window Ventilator	1 1 1 3	x x x x	2.2 2.2 2.2 3.2 3.2	1.80 0.90 1.00 0.90		2.40 2.40 2.10 1.30 0.60	11.09 9.50 4.16 4.16 5.18	
	Rolling Shutter Door D2 Window Ventilator	1 1 1 3	x x x x	2.2 2.2 2.2 3.2 3.2	1.80 0.90 1.00 0.90 1.20	Sqm @Rs	2.40 2.40 2.10 1.30 0.60	11.09 9.50 4.16 4.16 5.18 2.30 36.39	5029
23	Rolling Shutter Door D2 Window Ventilator Ventilator Supplying and fabrication of thall charges etc complete.	1 1 1 3 1	x x x x x	2.2 2.2 2.2 3.2 3.2 3.2	1.80 0.90 1.00 0.90 1.20 36.39	Sqm @Rs	2.40 2.40 2.10 1.30 0.60 0.60	11.09 9.50 4.16 4.16 5.18 2.30 36.39 /Sqm	5029
23	Rolling Shutter Door D2 Window Ventilator Ventilator Supplying and fabrication of thall charges etc complete. Rolling Shutter RS	1 1 1 3 1	x x x x x	2.2 2.2 2.2 3.2 3.2 3.2	1.80 0.90 1.00 0.90 1.20 36.39	Sqm @Rs	2.40 2.40 2.10 1.30 0.60 0.60	11.09 9.50 4.16 4.16 5.18 2.30 36.39 /Sqm	5029
23	Rolling Shutter Door D2 Window Ventilator Ventilator Supplying and fabrication of thall charges etc complete.	1 1 1 3 1 1 me follo	x x x x x or	2.2 2.2 2.2 3.2 3.2 3.2	1.80 0.90 1.00 0.90 1.20 36.39	Sqm @Rs	2.40 2.40 2.10 1.30 0.60 0.60	11.09 9.50 4.16 4.16 5.18 2.30 36.39 /Sqm ance and	5029
23	Rolling Shutter Door D2 Window Ventilator Ventilator Supplying and fabrication of thall charges etc complete. Rolling Shutter RS	1 1 1 3 3 1 1 ne follo	x x x x x x or or x	2.2 2.2 2.2 3.2 3.2 3.2	1.80 0.90 1.00 0.90 1.20 36.39 ing Shutte 2.10 1.80	Sqm @Rs	2.40 2.40 2.10 1.30 0.60 0.60 138.20 est and convey	11.09 9.50 4.16 4.16 5.18 2.30 36.39 /Sqm ance and 5.04 4.32 9.36	5029

SI.				_ :	Me	easurements	in "m"	Cambana	Amount
No	Description of work		Nos	5	Length	Breadth	Depth	Contents	Amount
24	Manufacturing supplying an of size 40x40x6mm are used for shutter frames stiffeners with 3 frame. 18-gauge C.R. sheet laim welded over the 32 x 6mm M.S with 18x5mm M.S. flat is provincase of single leaf and 6nos. of 120 mm in length made of angothe door. Tower bolts 2nos. one Aldrop is provided incase of doone more aldrop is provided in arrangements for the inner side for lock is provided on the rear door M.S.Flat 32 x 3mm at 1.1 the two shutters.at an appropriframe to prevent twisting of fracoat of red oxide primer as direct materials, labour charges, transincidental charges etc.,	or the 32 x 6 d as p 6. flat ded ded ded ded ded ded ded ded ded de	e out fomm pane san diago es ir ction he t leaf laner he d of th is p olace durin by t	er frain M.S in M.S in M.S in the double of an and door are door a	mes and Mariat is proving the C. at the reard the other at lock rail rail section or at an apped on the ce door. A tisportation partmenta	i.S. angles of sided at require and welded in R. sheet in be side of the shutter to be pands are welder at the bottom section in the of the door Coal provision for propriate place one shutter to be bar is provided and fixing. All officers. The	size 35x35x6m ed intervals in tact. M.S. flat 1 itween addition nutter, 3nos. of provided 6nos. ed to the outer of are provided door in single lone rotaing lock or locking arrange. Incase of doctonceal the gap ded at the botter rate includes of rate includes of the conceal the gap ded at the botter rate includes of the conceal the gap ded at the botter rate includes of the conceal the gap ded at the botter rate includes of the conceal the gap ded at the botter rate includes of the conceal the gap ded at the botter rate includes of the conceal the conceal the conceal the gap ded at the botter rate includes of the conceal the concean th	m for the the shutter .8x5mm is al stiffeners in of holdfasts frames of 1no. eaf door, sing gements buble leaf between om of the given a ost of all	
	D2 Single Leaf	1	x	1	0.90		2.10	1.89	
			or	1		No @Rs	5910.00	/No	5910
25	25 x 3mm at 1.419 kg/ m and shutter section of made of F7D Each openable shutter should neasy maintenance. The panel of superior quality and welded into Flat at 0.70kg/m at 3 Nos. for a flats at all the four corners of each holding the CR Sheets in position cum-latch of special type made appropriate height in window, and for handle is provided in the each window shutter having an lenght 320mm with three adjust the window at suitable place. 4 welded to the outer frame of the shutter at two place equiva	o of 3 not ex f the act we ach son firm with suitable adustable Nos.	3x2! cceece shute ith se shute hutt mly. 18x ple o llion stable of he idow	5x3mr d a wid tters to shutter ter an ers to 2 num 5mm pening section e stay sition. hold fa v by us	m at 1.419 dth of 600 o be cover r frames. H d addition the suitab bers of sto MS flats a g is left for on at suitab r made out A matchin sts of 120 sing MS fla	kg/m as spec mm to enable ed with 18 ga dorizontal stiff al diagonal sti ble length welcurdy hinges ar re revetted to tits easy oper ble place to ca of 18 x 5mm g peg is provi- mm length sp t of 18x5mm	separate opera separate opera uge cold rolled eners using 18 ffners of the sa ded to the shutte and one number the shutters at ation. a stoppe of the window at 0.70 kg/ m ded in the oute at 0.70kg/m, w	2/1990. ations and sheet of x5mm MS me MS ters, for of handle- an r square r handle. MS flat of r frame of	
 HD4	Window W	1	х	1	1.00		1.30	1.30	
	BREER BERNE		or		1.30	Sqm @Rs	4069.95		5291
7 6	Fabrication, supply and fixing 25 x 25 x5 mm for frame and N x 22 x3 mm 'T' section for frame degree inclined towards centre 3mm thick pinheaded glass par & putties with required bolts, not necessary dismantling, making power drill to the extend required by the departmental or section of the section of th	1.S. For when the second of th	Flat ones. Yall a properties of the second	of size Speciand fxi panel vasher RCC co	20 x 3 mr al type of l ng the wel s and fixin os and one olumns, be	n for fixing the Hold fast weld dmesh 25mm g the glass pa coat of red ox eams, masonry	e weld mesh ar ed to the frame square includionels with necestide primer etc. www.ywherever necestide primer etc.	nd using 25 of 45 of 45 of ssary clips including essary with	
	Ventilator V	3	x	1	0.90		0.60	1.62	
	<u> </u>		_			100			

ŝ۱.	Description of work Ventilator V1	Nos		Me	easurements				
No				Length	Breadth	Depth	Contents	Amount	
		1	х	1	1.20	1 44 1 223 4 2 1 1 1	0.60	0.72	
			or		1.00	No @Rs	2373,33	/No	2373
27	Supply and fixing of 15 A Aeri Concealed box Using Clamps S	al Fus D-12	se un 28	it (50	00A) unsuit	able 100 x 10	00 Teak Wood E	Board	
			1.00)	No	282	/ No		282
28	Supply and fixing of 16 Amps T.W. board with painting of sui	DPIC itable	swite	ch of r with	500V grade PWD Eart	e with Fuse ar	nd Neutral on s	uitable	
	pa								
	panong ci ca	T	1.00		at Rs	2892.00	/Each		2892
29	Supply and run of 2 of 6 sq. m cable of 1100 V on 7/20 Gi bea	m (8	1.00	30) po	at Rs	sulated and P	VC unsheathed	S.C. Alu	2892
29	Supply and run of 2 of 6 sq. m	m (8	1.00	30) po	at Rs	sulated and P	VC unsheathed	S.C. Alu 15.00	2892
29	Supply and run of 2 of 6 sq. m	m (84 arer v	1.00 4/0.3 wire	30) po for S 15	at Rs	sulated and P	VC unsheathed SD.64		2892 1335
	Supply and run of 2 of 6 sq. m	m (8-arer v	4/0.3 wire x L5.00	30) po for S 15 0 PVC ii B")su	at Rs olythene in ervice Coni - at Rs nsulated S6	sulated and P nection Main - - 89.00 C unsheathed	VC unsheathed SD.64 - /m CU. Conductor	15.00 of	
30	Supply and run of 2 of 6 sq. m cable of 1100 V on 7/20 Gi bea	m (8-arer v	4/0.3 wire x L5.00	30) po for S 15 0 PVC ii B")su	at Rs olythene in ervice Coni - at Rs nsulated S6	sulated and P nection Main - - 89.00 C unsheathed at both ends	VC unsheathed SD.64 - /m CU. Conductor	15.00 of	

	A20 - 47	200		Service.	Measurements		in "m"	Contents	Amount	
No	Description of work		Nos		Length	ngth Breadth [Depth			
31	Supplying and fixing of CFL including all cost and conveyance to work site etc complete									
	CFL bulb 20w	1	x	5	1		Taya Ari k	5.00		
			5.00)	at Rs	391.00	/Each		1955	
32	Supply and fixing of W.T. Bulk bulb with PVC unsheathed lead			-		-	le for lamp wi	th 40 W		
	Bulk head fitting.	1	x	1	_		_	1.00		
			1.00)	at Rs	610.00	/Each		610	
33	Wiring with 2 x 2.5 Sq.mm PVC unheated SC allocable of 650V grade in suitable PVC rigid pipe on wall and ceiling with PVC accessories with T.W. Switch box in flush with wall, covered with nylon sheet of 3mm thick with painting of suitable color for concealed PVC light point / Fan Point SD 25									
	Light point /Fan Point	1	x	5		- Mary Jan.	<u>-</u>	5.00		
			5.00)	at Rs.	2193.00	/Each		10965	
34	Wiring with 2 x 2.5 Sq.mm PVC unheated SC allocable of 650V grade in suitable PVC rigid pipe on wall and ceiling with PVC accessories with $150 \times 100 \times 113$ mm T.W. switch box in flush with wall, covered with nylon sheet of 3mm thick 5 Amps 3 pin non - interlocking C.S. Plug top with painting of suitable color for open PVC plug point SD -36.									
Ĵ	Plug point.	1	×	1				1.00		
			1.00		at Rs	1131.00	I -		1131	
35	Supply and Fixing of Ceiling fan including cost and conveyance of all materials and labor									
35	charges etc complete.									
35	charges etc complete. Ceiling fan	1	×	1	_		_	1.00		
35		1	1.00		- at Rs	2285.00	- /Each	1.00	2285	
		1	لــــــــــــــــــــــــــــــــــــــ		-	-	- /Each	1.00	2285	
	Ceiling fan	1	لــــــــــــــــــــــــــــــــــــــ		-	-	- /Each	1.00	2285	
	Ceiling fan Wash Basin		1.00	1	-	-			2285 3796	
36	Ceiling fan Wash Basin		1.00	1	- at Rs	2285.00		1.00		
36	Wash Basin Without Pedestal		1.00 X 1.00	1	- at Rs - at Rs	- 2285.00 - 3796.09	- /Each		3796	
36 37	Ceiling fan Wash Basin Without Pedestal IWC	1	1.00 x 1.00 1.00	1	- at Rs - at Rs at Rs	2285.00 - 3796.09 5154.08	- /Each - /Each	1.00	3796 5154	
36 37	Ceiling fan Wash Basin Without Pedestal IWC Provision for Rain water Harves	1 1 sting	1.00 x 1.00 x 1.00 Struce	1 1	- at Rs - at Rs at Rs including a	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00	3796 5154 10000	
36 37 39	Ceiling fan Wash Basin Without Pedestal IWC	1 1 sting	1.00 x 1.00 x 1.00 Struce	1 1	- at Rs - at Rs at Rs including a	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00	3796 5154 10000	
36 37 39 40	Ceiling fan Wash Basin Without Pedestal IWC Provision for Rain water Harves	1 1 sting	1.00 X 1.00 X 1.00 Structure	1 1 cture	at Rs at Rs at Rs at Rs uPVC Pipe	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00	3796 5154 10000 5000	
36 37 39 40	Ceiling fan Wash Basin Without Pedestal IWC Provision for Rain water Harves Provision for Water Supply Arra	1 sting anger	1.00 x 1.00 x 1.00 Structure ments or To	1 1 cture s like	at Rs at Rs at Rs including at UPVC Pipe	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00 1.00 ecials etc	3796 5154 10000 5000	
37 39 40 41	Ceiling fan Wash Basin Without Pedestal IWC Provision for Rain water Harves Provision for Water Supply Arra Provision For one set of RCC rir	1 sting anger	x 1.00 X 1.00 Structure or To and Do	1 1 cture s like ilet (s	at Rs at Rs at Rs including at UPVC Pipe	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00 1.00 ecials etc	3796 5154 10000 5000	
36 37 39 40 41 42	Wash Basin Without Pedestal IWC Provision for Rain water Harves Provision for Water Supply Arra Provision For one set of RCC rir Provision for Aluminium Partitic	1 sting anger	x 1.00 X 1.00 Structure or To and Do	1 1 cture s like ilet (s	at Rs at Rs at Rs including at UPVC Pipe	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00 1.00 ecials etc LS LS	3796 5154 10000 5000 8000 16000	
36	Wash Basin Without Pedestal IWC Provision for Rain water Harves Provision for Water Supply Arra Provision For one set of RCC rir Provision for Aluminium Partitic	1 sting anger	x 1.00 X 1.00 Structure or To and Do	1 1 cture s like ilet (s	at Rs at Rs at Rs including at UPVC Pipe	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00 1.00 ecials etc LS LS	3796 5154 10000 5000 8000 16000 10000 805138	
36 37 39 40 41 42 43	Wash Basin Without Pedestal IWC Provision for Rain water Harves Provision for Water Supply Arra Provision For one set of RCC rir Provision for Aluminium Partitic Provision for Front Elevation /S	1 sting anger	x 1.00 X 1.00 Structure or To and Do	1 1 cture s like ilet (s	at Rs at Rs at Rs including at UPVC Pipe	- 2285.00 - 3796.09 - 5154.08 all charges etc	- /Each - /Each complete LS	1.00 1.00 ecials etc LS LS	3796 5154 10000 5000 8000	

SI.	Description of work		Measurements in "m"				
No		Nos	Length	Breadth	Depth	Contents	Amount
47	Provision for Photographic charges including all charges etc complete						1000
48	Provision for P.S.Charges and contingencies					LS	846
					Total		997000

Sd.1- ponniah, Director

For Director

معامر الم

2/2